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POLICY DOCUMENT

AVANTHI FREESHIP AND MERIT SCHOLARSHIP POLICY

OBJECTIVE: The objective of the scheme is to provide financial assistance to the scheduled
students studying at Avanthi Institute of Pharmaceutical Sciences to enable to complete their

education.

The management of Avanthi Institute of Pharmaceutical Sciences is committed to promote and

support higher education opportunities for students from diverse backgrounds.

In recognition of the importance of financial aid in facilitating access to quality education, the
% institution has established a policy framework for the fair and transparent distribution of non-

government scholarships and free ships.

The institution has taken several initiations to motivate students to perform well in their

academics, sports and extra-curricular activities,

The student’s eligibility for award, medals and other financial assistance is based on their

| academic performance, financial background and other needs.

‘ This policy document outlines the guidelines, procedures and criteria for the awarding of merit

scholarships and free-ships.

The financial assistance to the students will be provided based on the following criteria:

1) To encourage and reward academic excellence, recognizing outstanding achievements by
students at Avanthi Institute of Pharmaceutical Sciences.

2) To provide financial assistance to students from poor background, enabling them pursue
higher education.

3) To promote a diverse and inclusive student community by supporting students with
exceptional talents in sports, cultural activities or other areas of achievement.

4) To ensure transparency, fairness and accountability in the process of Scholarships and

free-ships.

5) Financial support shall be provi ts to take-up quality projects
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6) Admission through free ship will be offered on a first- come, first- served basis financial
status of applicant.

7) The students who are eligible can apply for AVANTHI FREESHIP AND MERIT
SCHOLARSHIP (INTERNAL POLICY) and must attend the counseling for as per the
schedule.

8) The Freeships offered through Avanthi Freeship Test, is applicable for the first year
students at the time of admission. The same freeship will be continued in subsequent years
of study based on the student performance

9) After first year and for the consequent years, the students must attain the attendance
percentage > 80 and should not have more than two backlogs in the previous academic year.

10) The list of short listed students who obtain merit marks in Avanthi Freeship Test are
forwarded by the Principal to the Governing Body for approval Freeships are
implemented after the approval in Governing body council.

11) Concession / Freeships can also be given to other senior students based on the annual income
of the parents and also on the socio — economic condition of the students, the decision will be

purely based on the institution

STUDENT MERIT SCHOLARSHIP FRAME WORK
The merit scholarship will be provided for all First and Second TOPPERS of the students year

wise and programwise.
1.For 1°" TOPPER awarded ........... Rs 5000 /-
2 For 2™ TOPPER awarded ...........Rs 3000 /-

The Avanthi Freeships and Merit Scholarships Policy is adapted on this day Dec 4" 2017 at
Avanthi Institute of Pharmaceutical Sciences, Hyderabad. According to the Ment scholarship

Policy,those who are academic toppers will be awarded on Anniversary Day of the institution
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AVANTHI INSITUTE OF PHARMACEUTICAL SCIENCES
FREESHIP EXAMINATION TEST

2019-2020
Question Paper Name:PHARMACY Date:
Name of the student: Duration:180min
Avanthi Freeship No: Total Marks:100
Hydrophily and incomplete flowers are present in ( )
1) bigiona  2) Colocasia 3) Vallisnaria 4) Helianthus
Example for dicliny is ( )
1) Hibiscus 2) Commelina 3) Acalypha 4) Abutilon
True statement regarding pollination is ( )

I: All bisexual flowers undergo only autogamy.

1I: All unisexual flowers undergo only Xenogamy.

III: All geitonogamous flowers are not unisexual.

DI&II 2) Only III 3) I &I 4) Only 1
Assertion A: Geitonogamy & Xenogamy can take place in Cocos ( )
Reason R: Cocos is monoecious plant. Pollen may be from same or different plant.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false

4) A is false, R is true

Scrophularia is an example for ( )
1) Self sterility 2) Pollen prepotency 3) Protogyny 4) Dicliny
Pollination in hypanthodium inflorescence is ( )
1) Direct pollination 2) Self pollination

3) Cleistogamy 4) Cross pollination

Assertion A: In Commelina always self pollination takes place.
Reason R: Commelina shows cleistogamous flowers.
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false
4) A is false, R is true
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10.

11.

12.

13.

14.

15.

16.

17.

In Lythrum plants flowers show ( )

1) Two different lengths of styles 2) Male and female flowers

3) Wide angles between stamens and stigma  4) Three different lengths of styles
Self pollen grains are poisonous for stigmas of ( )

1) Asteraceae 2) Orchidaceae 3) Fabaceae 4) Solanaceae
In Martynia and Mimulus ( )

1) Stigmas are shorter than stamens 2) Stigmas mature later than stamens

3) Stigmas are sensitive 4) Stigmas are absent
All flowers with heterostyly also exhibit ( )

[ : Dichogamy II : Sensitive stigmas III : Herkogamy IV : Self sterility

DI&I 2) 11 & 111 HI&IV HT&I
In Oxalis the flowers are ( )

1) Dimorphic 2) Trimorphic 3) Polymorphic 4) Homogamous
Safety mechanism in Asteraceae ensures « )

1) Cross pollination in unisexual flowers 2) Self fertilization in unisexual flowers.
3) Self pollination in bisexual flowers.  4) Cross pollination in bisexual flowers.
In Commelina benghalensis ( )
1) Cleistogamous flowers are aerial
2) Both cleistogamous & chasmogamous flowers are aerial.
3) Cleistogamous flowers are underground and chasmogamous flowers are aerial.
4) Chasmogamous flowers are absent.
In Helianthus contrivances for cross pollination is ( )

1) Herkogamy & Heterostyly 2) Heterostyly & Pollen per potency

3) Herkogamy & Protandry 4)Protandry and safety mechanism
Match the following ( )
List - A List- B

A Streptocarpus I. Dichogamy
B. Clerodendron 1. Herkogamy

C. Passiflora [11. Cleistogamy
D. Hibiscus IV. Dicliny
V. Self Sterility
A B & D A B C D
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18.

19.

20.

21.

22.

23.

24,

25,

Even though Herkogamy and Dichogamy is present self pollination is guaranteed( )

1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum

Homogamy is ()

1) All flowers opening at the same time on a plant

2) All flowers pollinating at the same time on a plant.

3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

Pollination in which maximum genetic variations are seen is( )

1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy
Pollination by bats is seen in « )

1) Sausage tree 2) Night queen 3) Sun flower 4) Glory-lily
Dicliny is a contrivance for preventing ( )

1) Autogamy 2) Xenogamy 3) Geitonogamy 4) Cross pollination
In chasmogamous flowers ( )

1) Always self pollination 2) Always cross pollination

3) Both self & Cross pollination. 4) Neither self nor cross pollination.
Cross pollination that looks like a self pollination ( )

1) Xenogamy 2) Geitonogamy

3) Both Xenogamy & Geitonogamy 4) Homogamy

Closely related pollen grains cannot germinate fast on the stigma of ( )

1) Passiflora 2) Dolichos 3) Hibiscus 4) Lythrum




26.

27.

28.

29.

30.

31.

32.

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoﬂungs?( )
1)Cuboidal 2)Columnar

3)Squamous 4)Ciliatedcolumnar

Whichofthefollowingepitheliumlinesthemoistsurfaceofthebuccalcavity? ()
1)Stratifiedkeratinizedsquamous 2)Stratifiednon-keratinizedsquamous

3)Cuboidal 4)Stratifiedcolumnar

Whichepitheliumlinestheinnersurfaceoftheurinarybladderandureters? ()

1)Cuboidal 2)Transitional 3)Compound 4)Stratified

Which cell junctions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? ()
1)Tightjunctions 2)Adheringjunctions
3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear and tear
tissue,with little or no intercellular matrix ( )

1) Epithelialtissue ~ 2)Connectivetissue 3)Musculartissue 4)Nervoustissue

Cellsofgerminalepitheliumare: ( )
1) Cuboidal 2)Columnar 3)Squamous 4)Ciliated
Ependymaformstheliningof ( )

1) Ventriclesofbrain 2)Ventriclesofheart 3)Intestine 4)Buccalcavity
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33.

34.

35,

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? ( )
1) Thebodycellsofeumetazoansformtissues
2) Animalsgetcarbonandenergybyingestingotherorganisms
3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: ( )

1) Sponges b)Flatworms c¢)Cnidarians d)Roundworms
The blindsac body planis shown by: ( )

1) Sponges 2)Cnidariansandflatworms

3)Flatwormsandroundworms 4)Roundwormsandearthworms
Which of the following is a rare type of symmetry in animals? ( )

1) Radial 2)Bilateral 3)Biradial 4)Spherical
Bilateral symmetry is accompanied by: ( )

1) Neoteny 2)Metamerism 3)Metamorphosis ~ 4)Cephalization
Germ layers in sponges are « )

1) One 2) Two 3)Three 4)Absent
Besides Annelida and Arthropoda, metamerism is Found in: « )

1) Cestoda 2)Mollusca 3)Chordata 4)Acanthocephala

Development of mesoderm in the form of muscles in body wall, leaving

alimentary canal non-muscular is the feature of: ( )
1)Acoelomates 2)Pseudocoelomates
3)Enterocoelomates 4) Schizocoelomates
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41. Whichoneofthefollowingisnotadeuterostome? ( )
1) Cuttlefish 2)Hagfish 3)Starfish 4)Catfish

42. In understanding different types of symmetry, the term used as principal axis
means: ( )
1) A flat area that runs through any axis
2) An imaginary straight line joining two opposite points at the ends
3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end

4) An imaginary line passing through focus.

43. Which of the following option is correct? ( )

A) If a bone is kept in Hel for some time, its inorganic part is dissolved and organic

part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleﬁbehind

1 Aiscorrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothAé&Bareincorrect

44. Which of the following is not correct w.r.t Cartilage? ()
1) Intercellularmaterialofcartilageissolidandpliable
2) Itresistscompression
3) Allthecartilagesinvertebrateembryoarereplacedbybonesinadult

4) Chondrocytesarecellsofcartilage

45. Which of the following forms the internasal septum ()
1) Fibrous cartilage
2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage
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46. The cross section of the body of an invertebrate is given below. Identify the

animal which has this body plan ( )

Body wall
Parenchyma

Alimentary canal

1)Planaria
2)Earthworm
3)Cockroach
4)Roundworm
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47.  The figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect

to common characteristics of two of these animals

1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall
3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence

48. ThepercentageoftotalvolumeoccupiedbyRBCsis

1) Haematuria 2)Haemolysis 3)Hematocrit 4)Haemophilia

49.  Study the following and identify the set of correct statement(s) pertaining to mature
mammalian RBCs.
i. Theyarecircular,biconcaveandenucleateinallmammals.
ii. Theyareellipticalinshapeincamelsandllamas.
iii. ThetotalRBCscountinawomanismorethanthatofaman.
iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high

altitudes.

DI&IV &IV 3)Tonly $)Ionly

50. Identify the pair of vitamins which are essential for the maturation of RBC in man.

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac
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51.

52.

53.

54.

335.

For conservative force
1) Work done is independent of the path
2) Work done in a closed loop is zero
3) Work done against conservative force is stored is the form of potential energy

4) All the above

Two springs have their force constants ki and k) and they are stretched to the same
extension. If ky > k1 work done is

1) Same in both the springs 2) More in spring K|

3) More in spring Ko 4) None

Two springs have their force constants ki and kp (K2>K1). When they are stretched

by the same force, work done is

1) Same in both the springs 2) More in spring K
3) More in spring Ko 4) None

A lorry and a car moving with same KE are brought to rest by applying the same
retarding force. Then

1) Lorry will come to rest in a shorter distance

2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance

4) None

A lorry and a car moving with same momentum are brought to rest by applying the
same retarding force. Then

1) Lorry will come to rest in a shorter distance2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance 4) None
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56. When a wound spring is dissolved in an acid, the temperature of the

acid

1)Increases

2) Decreases

3) Remains same 4) None

57. A) Work done by frictional force is always negative.

58.

59.

B) A body at rest can have mechanical energy.

C) Mechanical energy of freely falling body decrease gradually.

1) Only A is true
3) Only C is true

2) Only B is true
4) All the three one true

Match the pairs in two lists given below.

List-1

a) Gravitational force

b) Fractional force

¢) KE of a dropped body
d) PE of a dropped

1) a-f,b-h, c-g,d-e
3) a-f,b-g,c-e,d-h

List - II

e) Decreases

f) Conservative force

g) Non-Conservative force

h) Increases body

2) a-f, b-g,c-h.d-e
4) a-h, b-g,c-f.d-e

A body is allowed to fall from a height h above the ground. Then match the

following.
List-1
a) PE=KE
b) PE=2KE
¢) KE =2PE
d) PE +KE

1) a-e, b-g,c-h,d-f
3) a-f, b-g,c-e,d-h

List - II

e) At height h/2

f) Constant at any point
g) At height 2h/3

h) At height h/3

2) a-g,b-e,c-f,d-h
4) a-e,b-h,c-g,d-f
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60.

61.

62.

63.

A): When a person is walking horizontally with a suitcase on his head, no work is
done by him against gravitational force.

R): Gravitational force on suitcase acts vertically downwards and motion is in

horizontal direction, hence dot product becomes zero.

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) & (R) are true but (R) is not correct explanation of (A).

3) (A) is true and (R) is false.

4) (A) is false but (R) is true.

A) Work done by gravitational force in moving a body is path independent.
R) Gravitational force is non conservative force.

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) & (R) are true but (R) is not correct explanation of (A).

3) (A) is true and (R) is false.

4) (A) is false but (R) is true.

A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work

done in pulling the entire chain on to the table? (g=10 m/sz)
1)7.2] 2)3.6] 3) 120 4) 1200J

A rectangular block of dimensions 6m x 4m X 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms—2)

1) 2880 kJ
2) 1400K;
3) 3800K \
\ .'\l.‘ “”’_'{// -
4) 720kJ b e O
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64. A ladder 'AB' of weight 300N and length Sm is lying on a horizontal surface. Its
centre of gravity is at a distance of "»m' from end A. A weight of 80N is attached at
end B. The work done in raising the ladder to the vertical position with end 'A' in
contact with the ground is

1) 5007 2) 1000J 3) 1150] 4) 1900]

65. A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g = 10ms—2)
1)-0.57 2)-1.25J 3) 1.25] 4)0.5]

66. A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic
energy at the highest point is
HK 2) Zero 3)K/4 4)K/2

67. A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of
volume 2238 litres at a height of 10m from the ground. The running time of the

motor to fill the empty tank is (g =10 ms—2)
1) 5 min 2) 10 min 3) 15 min 4) 20 min

68. A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and rebounds to the
same height. The velocity of projection is(g= 10ms—2)
1) 20 ms~1 2) 15 ms~! 3) 10 ms~ 1 4)5ms!

69. A stone is projected vertically up to reach a maximum height 'h'. The ratio of its

kinetic to potential energies at a height iSIE will be

1)5:4 2)4:5 3)1:4 4)4:1
\\ . -
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70.

71.

72.

73.

74.

A motor of power P is used to deliver water at a certain rate through a given

horizontal pipe. To increase the rate of flow of water through the same pipe n times,

the power of the motor is increased to P1. The ratio of Pq to Pq is

1)n:1 2)n2:1 3)n3:1 4)n4:1

A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
from end 'A’ is on the ground. A 40N weight is attached to the end B. The work to be
done to arrange the ladder in vertical position with end 'A' contact with the ground is

1) 190] 2) 250 3) 2835] 4) 475]

A small block of mass 'm' is kept on a rough inclined surface of inclination 6 fixed in
an elevator. The elevator goes up with a uniform velocity V and the block does not
slide on the wedge. The work done by the force of friction on the block in a time’t’
will be

1) Zero 2) mgvt c0s20 3) mgvt sin26 4) mgvt sin26

A box of mass 50kg at rest is pulled up on an inclined plane 12m long and 2m high by

a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

2ms—1, the work done against friction in Joules is (g = 10ms~2)
1) 50 2) 100 3) 150 4) 200

A body is projected vertically up with certain velocity. At a point 'P' in its path, the
ratio of its potential to Kinetic energies is 9: 16. The ratio of velocity of projection to

velocity at 'P' is

1)3:4 2)5:4 3)9:25 4)25:16
\ )
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75. When a body is projected vertically up, at a point '"P' in its path, the ratio of potential

76.

77

78.

79.

80.

81.

82.

to kinetic energies is 3: 4. If the same body were to be projected with two times the

initial velocity, the ratio of potential to kinetic energies at the same point is
1y3: 25 2)3:28 3)1:20 4)1: 25

The most abundant metal in earth's crust is

1) Oxygen 2) Aluminium 3) Iron 4) Silicon

The rare element of the IIIA group elements is

1) Aluminium 2) Boron 3) Gallium 4) Indium

The atomic volume of which element is least

1) Boron 2) Aluminium 3) Gallium 4) Thallium

Al and Ga have nearly the same covalent radii, because of
1) Greater shielding effect of*s’ electrons of 'Ga' atoms

2) Poor shielding effect of*s’ electrons of 'Ga’ atoms

3) Poor shielding effect of*d’ electrons of 'Ga’ atoms

4) Greater shielding effect of*d’ electrons of 'Ga’ atoms

Among IIIA group elements the elements with highest and lowest
ionisationpotential are

B, TI 2)B, In 3) B, Al 4) B, Ga

ITIA group element with lowest electro- negativity

1) Al 2) Tl 3)B 4) Ga

The I11A element with highest melting point is

1) Boron 2) Gallium 3) Indium 4) Thalium "
\ \ A '
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83. The IIIA element with least melting point is

1) Boron 2) Indium  3) Gallium 4) Aluminium

84. Which of the following does not exhibit inert pair effect?
1. Bi 2.Pb 3B 4.T1

85. +Thallous chloride is more stable than Thallic chloride because of

1) More ionic character
2) Larger size of TI" ion

3) High hydration energy of TI* ion
4) Inert pair effect

86. Which reacts with acids as well as alkalies?
a. Mg 2) Si 3) Al 4) Cu

87. Element with giant molecular structure is

a. B 2) Al 3) Ga 4) Tl

88. The non metallic element present in the mineral cryolite is

a F  2)Cl  3)Br HI

89. The maximum covalency of Boron is

1)4 2)3 3)6 45

90. The maximum covalency of Aluminium is
133 2)3 3)6 4)5

91. Aluminium exhibits diagonal relationship with

\ ,-,.f‘/
a. Beryllium  2) Silicon 3) Carbon 4) Germanium \ ’j e
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92. Borax bead test is responded by:

1. Divalent metals 2.Heavy metals

3. Light metal 4 Metals which form coloured metaborates

93. Borax bead test is not given by

a. Aluminium salt 2) Cobaltsalt  3) Copper 4) Nickel salt

94. The metal that does not give the borax bead test
1. Chromium 2.Nickel 3.Lead 4.Manganese

95. The coloured bead produced when borax is heated with Cu is

1. Greenish 2.Green when hot & blue when cold 3. Yellow 4.Red

96. Boraxis usedin

1. Qualitative analysis 2.Welding
3. Pyrex glass 4.All

97.Total number of electrons involved in the formation of diborane molecule are

1) 18 2) 12 3)6 4)3

98.The number of three centered, 2 electron bonds in diborane is

1)2 2)4 3)3 4)6

99.The aqueous solution of borax turns red litmus to

a. Blue 2. No Change 3. Red 4. White

100.0rthoboric acid when heated to red hot gives

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4 Boric anhydride
( g
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D3 23 32 41
13 12)1 13)2 14)3
21)1 22)1  23)3 242
3)1 32)1 33)4 34)1
41)1 42)3  43)1  44)3
514 52)3  53)2  54)3
61)3 62)2 632 64)2
71)2 7)1 732 74)2
81)1 82)1  83)3

84)3 85)4  86)3
94)3  95)3 96)4

87)1
97)2

5)3

15) 3
25)2
35)2
45)2
55)1
65)2
75) 1

88)4
98) 1

key

6)4 74 82 94 10)2
163 17)2 182  19)3  20)3
26)3 27)2 282 29)3  30)1
36)4  37)4 38)4  39)3  40)2
46)1 47)1 48)3 493 504
56)1  57)2 58)2 591 60)1
66)3 67)3 68)1 693  70)3
76)2 774 78)1 793 80)2

89)1 90)3 91)1 92)4 93)1

99)1 100) 4
s
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AVANTHI INSITUTE OF PHARMACEUTICAL SC
FREESHIP EXAMINATION TEST
2019-2020

Question Paper Name:PHA CY Date: 9/2/1
Name of the student: Duration:180min

Avanthi Freeship No: 9 ] ﬂs QQ!_Q} “Q) Total Marks:100

Hydrophily and incomplete flowgrs are present in C})/
1) bigiona 2) Colocasia 3) Vallisnaria 4) Helianthus

Example for dicliny is

1) Hibiscus 2) Commelina 3) Acalypha 4) Abutilon

True statement regarding pollination is
I: All bisexual flowers undergo only autogamy.
II: All unisexual flowers undergo only Xenogamy.

III: All geitonogamous flowers are not unisexual.

DI&II 2) Only III 3) 11 & III 4) Only I

Assertion A: Geitonogamy & Xenogamy can take place in Cocos

YF\S

( )

-

Reason R: Cocos is monoecious plant. Pollen may be from same or diffe\z:gmﬂa/ﬁt.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false

4) A is false, R is true

Scrophularia is an example for

1) Self sterility 2) Pollen prepotency 3) Protogyny
Pollination in hypanthodium inflorescence is

1) Direct pollination 2) Self pollination

3) Cleistogamy 4) Cross pollination

Assertion A: In Commelina always self pollination takes place.

Reason R: Commelina shows cleistogamous flowers.
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false
4) A is false, R is true
In Passiflora self pollination is prevented by

1) Pollen pre potency 2) Self sterility 3) Triheterostyly

AVANTH! 2
fW&ﬁu*“

3

4) Dicliny

.

4) Herkogamy
/

\ L
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10.

11.

12.

13.

14.

15.

16.

17.

In Lythrum plants flowers show
1) Two difterent lengths of styles 2) Male and female flowers

3) Wide angles between stamens and stigma 4) Three different lengths of styles

Self pollen grains are poisonous for stigmas of (
1) Asteraceae 2) Orchidaceae 3) Fabaceae 4) Solanaceac
In Martynia and Mimulus \_}&')/

1) Stigmas are shorter than stamens 2) Stigmas mature later than stamens

4) Stigmas are absent

e il

) =

11 : Sensitive stigmas III : Herkogamy
2) 11 & 111 NI&IV

3) Stigmas are sensitive
All flowers with heterostyly also exhibit
[V : Self sterility
H1&ll

| : Dichogamy
N1& I

Tn Oxalis the flowers are

oo

1) Dimorphic

Safety mechanism in Ast

3) Self pollination in bisexual flowers.

2) Trimorphic

In Commelina benghalensis

1) Cleistogamous flowers are aerial

2) Both cleistogamous & chas

3) Cleistogamous flowers are und

4) Chasmogamous flowers are ab
In Helianthus contrivances for cr

1) Herkogamy & Heterostyly

3) Herkogamy & Protandry

Match the following
List - A
A Streptocarpus
B. Clerodendron
C. Passiflora

List- B
[. Dichogamy
11. Herkogamy
111. Cleistogamy

eraceae ensures

sent.

3) Polymorphic

oss pollination is

D. Hibiscus IV. Dicliny
V. Self Sterility
A B C D A
1) v 1 Vv 11 3) 111
2) m 1 \Y 11 4) 11

4) Homogamous

e

1) Cross pollination in unisexual flowers 2) Self fertilizati-on in unisexual flowers.

4) Cross pollination in bisexual flowers.

%

mogamous flowers are aerial.

erground and chasmogamous flowers are aetial.

(W

2) Heterostyly & Pollen pér potency

4)Protandry and safety mechanism

>




18.  Even though Herkogamy and Dichogamy is present self pollination is guaranteed@ >
1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum =

19. Homogamy is

(V)
1) All flowers opening at the same time on a plant \/

2) All flowers pollinating at the same time on a plant.
3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

20.  Pollination in which maximum genetic variations are seen is\(y
1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy

21.  Pollination by bats is seen in G)V
4

1) Sausage tree 2) Night queen 3) Sun flower ) Glory-lily

22.  Dicliny is a contrivance for preventing ( l ) ,
1) Autogamy 2) Xenogamy 3) Geitonogamy 4)Cross pollination

23. In chasmogamous flowers (9)
1) Always self pollination 2) Always cross po]]ir&&on
3) Both self & Cross pollination. 4) Neither self nor cross pollination.
24.  Cross pollination that looks like a self pollination (f),}/
1) Xenogamy 2) Geitonogamy At

3) Both Xenogamy & Geitonogamy 4) Homogamy

25.  Closely related pollen grains cannot germinate fast on the stigma of (fp,
1) Passiflora 2) Dolichos 3) Hibiscus 4) Lythrum

I e Page3




26.

27.

28.

29.

30.

31.

32.

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoflungs? (g)

1)Cuboidal 2)Columnar /

3)Squamous 4)Ciliatedcolumnar

Whichofthefollowingepitheliumlinesthemoistsurfaceofthebuccaleavity? ()
1)Stratifiedkeratinizedsquamous 2)Stratifiednon-keratinized sm
3)Cuboidal 4)Stratifiedcolumnar

Whichepitheliumlinestheinnersurfaceoftheurinarybladderandureters? t)/)/
1)Cuboidal 2)Transitional 3)Compound 4)Stratified

Which cell junctions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? ()5 )
1)Tightjunctions 2)Adheringjunctions /
3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear and tear

tissue,with little or no intercellular matrix \_/(/}/)/

1) Epithelialtissue ~ 2)Connectivetissue 3)Musculartissue 4)Nervoustissue

Celisofgerminalepitheliumare: C
1) Cuboidal 2)Columnar 3)Squamous 4)Ciliated
Ependymaformstheliningof \d/)

1) Ventriclesofbrain 2)Ventriclesotheart 3)Intestine 4)Buccalcavity

Page4




33.

34,

35,

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? Lﬁ)//,

1) Thebodycellsofeumetazoansformtissues
2) Animalsgetcarbonandenergybyingestingotherorganisms
3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: \(/,/b/

1) Sponges b)Flatworms c¢)Cnidarians d)Roundworms
The blindsac body planis shown by: L%/
1) Sponges 2)Cnidariansandflatworms

3)Flatwormsandroundworms 4)Roundwormsandearthworms

Which of the following is a rare type of symmetry in animals? (3 )
1) Radial 2)Bilateral 3)Biradial rical

Bilateral symmetry is accompanied by: (1/\/1/)/

1) Neoteny 2)Metamerism 3)Metamorphosis  4)Cephalization
Germ layers in sponges are (_%/,

1) One 2) Two 3)Three 4)Absent
Besides Annelida and Arthropoda, metamerism is Found in: ( [,L )A
1) Cestoda 2)Mollusca 3)Chordata 4)Acant gcephala

Development of mesoderm in the form of muscles in body wall, leaving

alimentary canal non-muscular is the feature of: ( [/1}}\

1)Acoelomates 2)Pseudocoelomates o
3)Enterocoelomates 4) Schizocoelomates
Page5 — lppNER T uTE o
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41. Whichoneofthefollowingisnotadeuterostome? ( l )

1) Cuttlefish 2)Hagfish 3)StarﬁshL / ijaatﬁsh

42.  Inunderstanding different types of symmetry, the term used as principal axis
means: 7 (2 -
1) A flat area that runs through any axis
2) An imaginary straight line joining two 3pposite points at the ends
3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end

4) An imaginary line passing through focus.

43. Which of the following option is correct? ()
A) If a bone is kept in Hel for some time, its inorganic part is dissolved and organic
part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleﬁbehind

Aiscorrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothAé&Bareincorrect

44. Which of the following is not correct w.r.t Cartilage? (}) /
i

1) Intercellularmaterialofcartilageissolidandp1iable
2) Itresistscompression
3) Allthecartilagesinvertebrateembryoarereplacedbybonesinadult

4) Chondrocytesarecellsofcartilage

45. Which of the following forms the internasal septum (")) —
1) Fibrous cartilage (_/
2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage

- Pageb




The cross section of the body of an invertebrate is given below. Identify the

animal which has this body plan >
nima ich has this boay pla (\)//

e

- Body wall
Parenchyma

- Alimentary canal

3
1)Planaria
2)Earthworm
3)Cockroach
4)Roundworm
\ \ " -
‘. —
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47. "The figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect
#M’*
to common characteristics of two of these animals U)

1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall
3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence

48. ThepercentageoftotalvolumeoccupiedbyRBCsis C
1) Haematuria 2)Haemolysis 3)Hema oc 4)Haemophilia

49.  Study the following and identify the set of correct statement(s) pertaining to mature
mammalian RBCs. M

i. Theyarecircular,biconcaveandenucleateinallmammals.

ii. TheyareellipticalinshapeincamelsandLlamas.

iii. ThetotalRBCscountinawomanismorethanthatofanran.

iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high
altitudes.

1I&AV )&V 3)Ilonly 4)ITlonly

50. Identify the pair of vitamins which are essential for the maturation of RBC in man kL{)

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac
\\‘ -~ \///Tj :
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51.

S2.

53.

54.

35

o

For conservative force @1) N
1) Work done is independent of the path/

2) Work done in a closed loop is zero
3) Work done against conservative force is stored is the form of potential energy

4) All the above

b
Two springs have their force constants ki and kp and they are stretched to the same

extension. If kp > k1 work done is @y

1) Same in both the springs 2) More in spring K1
3) More in spring K2 : 4) None

Two springs have their force constants ki and kp (K2>Kjp). When they are stretched

by the same force, work done is L@
1) Same in both the springs ore in spring K1
3) More in spring K2 4) None

A lorry and a car moving with same KE are brought to rest by applying the same Cy
retarding force. Then )

1) Lorry will come to rest in a shorter distance S

2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance

4) None

A lorry and a car moving with same momentum are brought to rest by applying thqé‘l) |

same retarding force. Then —

1) Lotry will come to rest in a shorter distance2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance 4) None
i ——— Pageg ................ ‘f_\‘\ vﬁ%\%‘.{{"‘
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56. W hen a wound spring is dissolved in an acid, the temperature of the U)

57. A) Work done by frictional force is always negative.

58.

59.

atid

DIncreases

B) A body at rest can have mechanical energy.

2) Decreases

4) None/

@

3) Remains same

C) Mechanical energy of freely falling body decrease gradually.

1) Only A is true
3) Only C is true

Match the pairs in two lists given below.

List -1

a) Gravitational force

b) Fractional force

¢) KE of a dropped body
d) PE of a dropped

1) a-f,b-h, c-g, d-€
3) a-f,b-g,c-e,d-h

following.

¥2) Only B is true

4) All the three one true
(2)
List - IT Lo

e) Decreases
f) Conservative force
g) Non-Conservative force

h) Increases body

2) a-f, b-g,c-h,d-e
4) a-h, b-g,c-f,d-e

A body is allowed to fall from a height h above the ground. Then maw

List-1

a) PE=KF»
b) PE=2KE
¢) KE =2PE
d) PE +KE

1) a-¢, b-g,c-h,d-f
3) a-f, b-g,c-e,d-h

List - II

¢) At height h/2

f) Constant at any point
g) At height 2h/3

h) At height h/3

2) a-g,b-e,c-f,d-h
4) a-e,b-h,c-g,d-f
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60.

61.

62.

63.

Agf When a person is walking horizontally with a suitcase on his head, no work is
done by him against gravitational force. C'

R): Gravitational force on suitcase acts vertically downwards and motion is in

horizontal direction, hence dot product becomes zero.

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) & (R) are true but (R) is not correct explanation of (A).

3) (A) is true and (R) is false. !

4) (A) is false but (R) is true.

A) Work done by gravitational force in moving a body is path independent.

R) Gravitational force is non conservative force. {Q/ .
1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2) Both (A) & (R) are true but (R) is not correct explanation of (A).

3) (A) is true and (R) is false.
4) (A) is false but (R) is true.

A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work

done in pulling the entire chain on to the table? (g=10 m/s2) L’?_/ﬁ
1)7.2) 2)3.6) 3) 120

3
A rectangular block of dimensions 6m x 4m x 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms—2 )
1) 2880 kJ '

2) 1400K;j
3) 3800K;j

4) 720kJ

o Pagell ————
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64. Kiﬁ?ﬂder 'AB' of weight 300N and length 5m is lying on a horizontal surface. Its

65.

66.

67.

68.

69.

ce‘ﬁﬁ‘e of gravity is at a distance of '2m' from end A. A weight of 80N is attached at

end B. The work done in raising the ladder to the vertical position with end 'A' in
contact with the ground is @ .
1) 500J 2) 10007J 3) 115 4) 1900J

A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g = 10ms—2) @
1)-0.5] 2)-1.25] 3) 1.25) 4)0.5]

[}

A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic
energy at the highest point is @

1)K 2) Zero 3) K/4 4)K/2 L)/

A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of

volume 2238 litres at a height of 10m from the ground. The running time of the

motor to fill the empty tank is (g =10 ms—2) U) }
1) 5 min 2) 10 min 3) 15 min 4) 20 min 57 %

A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and rebounds to the

same height. The velocity of projection is (g = 10ms—2) CB) )
1) 20 ms—1 2) 15 ms~1 3) 10 ms1 4)5 ms~1 f/\

A stone is projected vertically up to reach a maximum height 'h'. The ratio of its

kinetic to potential energies at a height igiwill be CE’) /_)\
V

1)5:4 2)4:5 3)1: 4 4)4:1
| 7 oA AF
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70.

71.

72.

A:motor of power Py is used to deliver water at a certain rate through a given

Horizontal pipe. To increase the rate of flow of water through the same pipe n times,

the power of the motor is increased to P1. The ratio of Pq to P is @

Dn:1 2)n2 : 1 3)n3:1 4):{1;1/)///,,//

A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
from end 'A' is on the ground. A 40N weight is attached to the end B. The work to be

done to arrange the ladder in vertical position with end 'A’' contact with the ground is

1) 190J 2) 2507 3) 285] 4) 475] \-@/

A small block of mass 'm' is kept on a rough inclined surface of inclination 0 fixed in
an elevator. The elevator goes up with a uniform velocity V and the block does not

slide on the wedge. The work done by the force of friction on the block in a time’t’u)

 will be | _~—

3.

74.

1) Zero 2) mgvt cos26 3) mgvt sin0 4) mgvt sin26

A box of mass 50kg at rest is pulled up on an inclined plane 12m long and 2m high by

a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

2ms—1, the work done against friction in Joules is (g = 10ms—2) C_’,
1) 50 2) 100 3) 150 4) 200 L

A body is‘projected vertically up with certain velocity. At a point 'P' in its path, the

ratio of its potential to Kinetic energies is 9: 16. The ratio of velocity of projection to

velocity at 'P' is @B
1)3:4 2)5: 4 3)9: 25 425:16 :

‘.\ )
A o g (5
‘z. . = ‘— .
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78, When a body is projected vertically up, at a point 'P' in its path, the ratio of potential
YA kinetic energies is 3: 4. If the same body were to be projected with two times the

initial velocity, the ratio of potential to kinetic energies at the same point 13/[1)/

1)3:25 2)3:28 3)1:20 4)1:25

76. The most abundant metal in earth's crust is @%//

1) Oxygen 2) Aluminium 3) Iron 4) Silicon

)

77.  The rare element of the IIIA group elements is /

1) Aluminium 2) Boron 3) Gallium 4) Indium
78. The atomic volume of which element is least @

1) Boron 2) Aluminium 3) Gallium 4) Thallium

79. Al and Ga have nearly the same covalent radii, because of U ) " A
1) Greater shielding effect of's’ electrons of 'Ga' atoms
2) Poor shielding e;ffect of*s’ electrons of 'Ga' atoms
3j Poor shielding effect of*d’ electrons of 'Ga’ atoms

4) Greater shielding effect of*d’ electrons of 'Ga’ atoms

80. Among IIIA group elements the elements with highest and lowest

jonisationpotential are C’/_‘g)
DB, Tl 2)B,In 3) B, Al 4) B, Ga

81. IHA group element with lowest electro- negativity Cf )

1) Al 2) Tl 3)B 4) Ga -
82. The IIIA element with highest melting pointis U) £ e ,,,//
1) Boron 2) Gallium 3) Indium 4) Thalium -
\\\\ > //"?:/‘_ ’
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8% ThelllA element with least melting point is QZ )

1) Boron 2)Indium  3) Gallium 4) Aluminium V

84.  Which of the following does not exhibit inert pair effect? Cz) _—
1. Bi 2.Pb 3B 4.T] R

85. +Thallous chloride js more stable than Thallic chloride because of Q—[) >

1) More ionic character N 550
2) Larger size of TI* jop

3) High hydration energy of T jon

4) Inert pair effect

86. Which reacts with acids as well a5 alkalies? QCEJ/
a. Mg 2) Si 3) Al 4) Cu

! .
87. Element with giant molecular structure is C )
a. B 2) Al 3) Ga 4) Tl
88. The non metalljc element present in the mineral cryolite js C('f) il 3
a F 2Cl 3Br g =
3 B
89. The maximum covalency of Boron is \E’)/
1) 4 2)3 3)6 4)5
90. The maximum covalency of Aluminium s LCZ.’)/,
)3 2)3 3)6 45 '
91. Aluminium exhibits diagonal relationship with ‘U)/ |
a. Beryllium 2) Silicon 3) Carbon 4) Germanium \\ /’j)
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92. Borax bead test is responded by: Qﬁ)/
1. Divalent metals 2.Heavy metals

3. Light metal ' 4 Metals which form coloured metaborates

93. Borax bead test is not given by . LL/‘/

a. Aluminium salt 2) Cobaltsalt  3) Copper 4) Nickel salt

94. The metal that does not give the borax bead test (2)

1. Chromium 2 Nickel 3.Lead 4.Manganese/

95. The coloured bead produced when borax is heated with Cu is ('3) 7

| 1. Greenish 2.Green when hot & blue when cold o Yellmd

96. Boraxis usedin -

1. Qualitative analysis 2.Welding Qy//

3. Pyrex glass 4.All

97.Total number of electrons involved in the formation of diborane molecule are C} )

1)18 2) 12 3)6 4)3 [

98.The number of three centered, 2 electron bonds in diborane is L/aa, :
1)2 2) 4 3)3 4)6 |

99.The aqueous solution of borax turns red litmus to

a. Blue 2.No Change  3.Red 4. White \_C)f/

100.0rthoboric acid when heated to red hot gives %

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4 .Boric anhydride 3
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33
Hydrophily and incomplete flowers are present in

1) bigiona 2) Colocasia 3) Vallisnaria
Example for dicliny is

1) Hibiscus 2) Commelina 3) Acalypha
True statement regarding pollination is

[: All bisexual flowers undergo only autogamy.

II: All unisexual flowers undergo only Xenogamy,
[1I: All geitonogamous flowers are not unisexual.

DI&I 2) Only III 3 &I

Assertion A: Geitonogamy & Xenogamy can take place in Cocos

b@
1¢) 0
O

Date: "% |]0
Duration:180
Total Marks:100

(3)
4) Helianthus il
{ %3
4) Abutilon gt
{ ad

!

4) Only I
( \9r

Reason R: Cocos is monoecious plant. Pollen may be from same or different plant.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false

4) A is false, R is true
Scrophularia is an example for
1) Self sterility 2) Pollen prepotency
Pollination in hypanthodium inflorescence is
1) Direct pollination 2) Self pollination

3) Cleistogamy 4) Cross pollination

( 39

4) Dicliny

(Ha

3) Protogyny

Assertion A: In Commelina always self pollination takes place.

Reason R: Commelina shows cleistogamous flowers.

1) Both A and R are true and R is the correct explanation of A.

()

2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false
4) A is false, R is true
In Passiflora self pollination is prevented by

1) Pollen pre potency 2) Self sterility

3) Trihetero styly

( (
4) Herkogam -
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10.

11.

12.

13.

14.

15.

16.

17.

In Lythrum plants flowers show (L)

1) Two different lengths of styles 2) Male ahd/fémale flowers

3) Wide angles between stamens and stigma 4) Three different len gths of styles
Self pollen grains are poisonous for stigmas of ( }.)"

1) Asteraceae 2) Orchidaceac 3) Fabaceae 4) Solanaceac
In Martynia and Mimulus (3\)/

1) Stigmas are shorter than stamens 2) Stigmas mature Jater than stamens

3) Stigmas are sensitive 4) Stigmas are absent
All flowers with heterostyly also exhibit ( | Y

[ : Dichogamy 11 : Sensitive stigmas 111 : Herkogamy [V : Self sterility

N1& I ) &1L PN1&IV 4H1& 1
In Oxalis the flowers are ( ')4)/

1) Dimorphic 2) Trimorphic 3) Polymorphic 4) Homogamous
Safety mechanism in Asteraceae ensures (3 )

1) Cross pollination in unisexual flowers 2) Self fertilizationTn unisexual flowers.
3) Self pollination in bisexual flowers. 4) Cross pollination in bisexual flowers.
In Commelina benghalensis (3)/'
1) Cleistogamous flowers are acrial
2) Both cleistogamous & chasmogamous flowers are aerial.
3) Cleistogamous flowers are underground and chasmogamous flowers are aerial.
4) Chasmogamous flowers are absent.
In Helianthus contrivances for cross pollination is (_3)/

1) Herkogamy & Heterostyly 2) Heterostyly & Pollen per potency

3) Herkogamy & Protandry 4)Protandry and safety mechanism
Match the following ( ' r)l‘\
List - A List - B ¥

A Streptocarpus I. Dichogamy
B. Clerodendron 11, Herkogamy

C. Passiflora 111. Cleistogamy
D. Hibiscus 1V. Dicliny
V. Self Sterility

A B C D A B & D
1) v 1 \Y 1 3) 11l [ [ Vv ;
2) 11l 1 \Y 11 4) {1 Il 3% \Y

AN ANTH‘/ pEC‘
QJARM" ﬁ \' ‘*1
=1 r aly J
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18.

19.

20.

21.

22,

23.

24,

25.

Even though Herkogamy and Dichogamy is present self pollination is guaranteed@'

1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum
Homogamy is (3)
1) All flowers opening at the same time on a plant '“/

2) All flowers pollinating at the same time on a plant.
3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

Pollination in which maximum genetic variations are seen is (

1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy
Pollination by bats is seen in ( ] )

1) Sausage tree 2) Night queen 3) Sun flower 43 Glory-lily
Dicliny is a contrivance for preventing ( ‘ )

1) Autogamy 2) Xenogamy 3) Geitonogamy 4) Cross pollination
In chasmogamous flowers B )

1

1) Always self pollination 2) Always cross pollination

3) Both self & Cross pollination. 4) Neither self nor cross pollination.
Cross pollination that looks like a self pollination (2)

1) Xenogamy 2) Geitonogamy

3) Both Xenogamy & Geitonogamy 4) Homogamy

Closely related pollen grains cannot germinate fast on the stigma of (j)\

1) Passiflora 2) Dolichos 3) Hibiscus 4y Lythrum
’\\‘ \\ o
\ \\ - 4
\ \«
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26.

27.

28.

29.

30.

al.

32.

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoflungs? (73)
1)Cuboidal 2)Columnar fprri?

3)Squamous 4)Ciliatedcolumnar

Whichofthefollowingepitheliumlinesthemoistsurfaceofthebuccalcavity? (\2).
1)Stratifiedkeratinizedsquamous 2)Stratifiednon-keratinizedsquamous

3)Cuboidal 4)Stratifiedcolumnar

Whichepitheliumlinestheinnersurfaceoftheurinarybladderandureters? (3}&
1)Cuboidal 2)Transitional 3)Compound 4)Stratified "

Which cell junciions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? (3)/
1)Tightjunctions 2)Adheringjunctions
3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear and tear

tissue,with little or no intercellular matrix (_B)OK

1) Epitheliaitissue ~ 2)Connectivetissue 3)Musculartissue 4)Nervoustissue

Cellsofgerminalepitheliumare: 1)
1) Cuboidal 2)Columnar 3)Squamous 4)Cil[I’aﬁd
Ependymaformstheliningof ( ' .

1) Ventriclesofbrain 2)Ventriclesotheart 3)Intestine 4)Buccalcavity

\ —”
\ = 5

\ .- [,
k.o e
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33.

34.

35.

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? (L( l/ :
1) Thebodycellsofeumetazoansformtissues

2) Animalsgetcarbonandenergybyingestingotherorganisms

3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: ( \ )
1) Sponges b)Flatworms c¢)Cnidarians d)Roundworms
The blindsac body planis shown by: ( 2.k
1) Sponges 2)Cnidariansandflatworms .
3)Flatwormsandroundworms 4)Roundwormsandearthworms

Which of the following is a rare type of symmetry in animals? ( L’ )

1) Radial 2)Bilateral 3)Biradial 4)Spherical
Bilateral symmetry is accompanied by: (L{ )
1) Neoteny 2)Metamerism 3)Metamorphosis  4)Cephalization
Germ layers in sponges are ( Lf )
1) One 2) Two 3)Three Absent
Besides Annelida and Arthropoda, metamerism is Found in: (3 )
1) Cestoda 2)Mollusca 3)Chordata 4)Acanth05e/phala

Development of mesoderm in the form of muscles in body wall, leaving

alimentary c2nal non-muscular is the feature of: (
1)Acoclomates 2)Pscudocoelomates
3)Enterocoelomates 4) Schizocoelomates
T | -
\\ \\ g
\
,??NCIP
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41. Whichoneofthefollowingisnotadeuterostome? ( ‘ )
1) Cuttlefish 2)Hagfish 3)Starfish 4)Catfish

42. In understanding different types of symmetry, the term used as principal axis
means: ( 3—)//
1) A flat area that runs through any axis
2) An imaginary straight line joining two 3pposite points at the ends
3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end
4) An imaginary line passing through focus.
43. Which of the following option is correct? ( ' /‘

A) If a bone is kept in Hel for some time, its inorganic pé{t isdissolved and organic

part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleftbehind

1)Aiscorrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothA&Bareincorrect

44. 'Which of the following is not correct w.r.t Cartilage? (37)/
1) Intercellularmaterialofcartilageissolidandpliable
2) Itresistscompression
3) Al1thecartilagesinvertebrateembryoarereplacedbybonesinadult

4) Chondrocytesarecellsofcartilage

45. Which of the following forms the internasal septum (y\
1) Fibrous cartilage
2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage

—~ Page6 ——
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46.

The cross section of the body of an invertebrate is given below. Identify the
animal which has this body plan

(‘2,19&

- Body wall
Parenchyma

Alimentary canal

1)Planaria
2)Earthworm
3)Cockroach

4)Roundworm

b N
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47. V,E_I‘he figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect

" to common characteristics of two of these animals

1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall
3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence

48. ThepercentageoftotalvolumeoccupiedbyRBCsis Cﬁ)
1) Haematuria 2)Haemolysis 3)Hematocrit 4)Haemophilia

49.  Study the following and identify the set of correct statement(s) pertaining to mature
mammalian RBCs. (3/
i. Theyarecircular,biconcaveandenucleateinallmammals.
ii. TheyareellipticalinshapeincamelsandLlamas.
iii. ThetotalRBCscountinawomanismorethanthatofanan.
iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high
altitudes.

I&AV 2)MI&IV 3)Ionly 4)Ilonly

50. Identify the pair of vitamins which are essential for the maturation of RBC in man.

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac ( (

= - Page8
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51.. For conservative force
1) Work done is independent of the path (11)
2) Work done in a closed loop is zero Lt
3) Work done against conservative force is stored is the form of potential energy

4) All the above

3
52. Two springs have their force constants kj and kp and they are stretched to the same

extension. If kp > kq work done is (3)
1) Same in both the springs 2) More in spring K|
3) More in spring K2 : 4) None

53. Two springs have their force constants ki and k2 (K2>Kj). When they are stretched

by the same force, work done is g%y
1) Same in both the springs 2) More in spring K
3) More in spring K2 4) None

54. Alorry and a car moving with same KE are brought to rest by applying the same
retarding force. Then
1) Lorry will come to rest in a shorter distance —(3) =
2) Car will come to rest in a shorter distance ol
3) Both come to ret in the same distance

4) None

55. A lorry and a car moving with same momentum are brought to rest by applying the
same retarding force. Then

1) Lorry will come to rest in a shorter distance2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance 4) None (@J\
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56. Vu\f?'Yhen a wound spring is dissolved in an acid, the temperature of the

57.

38.

59.

atid

1)Increases 2) Decreases 3) Remains same 4) None

A) Work done by frictional force is always negative.

B) A body at rest can have mechanical energy.

C) Mechanical energy of freely falling body decrease gradually.

1) Only A is true b 2) Only B is true

3) Only C is true 4) All the three one true

Match the pairs in two lists given below.

List-1 List - II
a) Gravitational force ¢) Decreases
b) Fractional force f) Conservative force

¢) KE of a dropped body g) Non-Conservative force

d) PE of a dropped h) Increases body
1) a-f,b-h, c-g, d-e 2) a-f, b-g,c-h,d-e
3) a-f,b-g,c-¢,d-h 4) a-h, b-g,c-f,d-e

C))

C

(2

()~

A body is allowed to fall from a height h above the ground. Then match the

following.
List-1 List - II
a) PE=KE» ¢) At height h/2
b) PE=2KE f) Constant at any point
¢) KE =2PE g) At height 2h/3
d) PE +KE h) At height h/3
1) a-e, b-g,c-h,d-f 2) a-g,b-e,c-f,d-h
3) a-f, b-g,c-e,d-h 4) a-e,b-h,c-g,d-f

— Pagel0 5 f,,, o




60. AY':* When a person is walking horizontally with a suitcase on his head, no work is

done by him against gravitational force. ( ) )

R): Gravitational force on suitcase acts vertically downwards and motion is in L

horizontal direction, hence dot product becomes zero.

1) Both (A) and (R) are true and (R) is the correct explanation of (A).

2) Both (A) & (R) are true but (R) is not correct explanation of (A).

3) (A) is true and (R) is false. !

4) (A) is false but (R) is true.

61. A) Work done by gravitational force in moving a body is path independent.
R) Gravitational force is non conservative force. @
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false.
4) (A) is false but (R) is true.

62. A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work

done in pulling the entire chain on to the table? (g=10 m/s2) (27) _
1)7.23 2)3.6] 3) 1207 51200

L ]
63. A rectangular block of dimensions 6m x 4m x 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms—2)

1) 2880 kJ (,21

2) 1400K]
3) 3800K _
4) 720k] \\,N,,,,//”' 2,
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64. A ladder 'AB' of weight 300N and length 5m is lying on a horizontal surface. Its
cefitre of gravity is at a distance of '2m' from end A. A weight of 80N is attached at

end B. The work done in raising the ladder to the vertical position with end 'A" in

contact with the ground is : )
1) 5001 2) 1000J 3) 1150 4) 1900J %

65. A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g = 10ms—2) .
1)-0.5] 2) —1.25] 3) 1.25] 4)0.5] ‘

66. A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic
energy at the highest point is
1)K 2) Zero 3)K/4 nrn

67. A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of

volume 2238 litres at a height of 10m from the ground. The running time of the

motor to fill the empty tank is (g =10 ms—z) L3 )
1) 5 min 2) 10 min 3) 15 min 4) 20 min |

68. A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and rebounds to the
same height. The velocity of projection is (g = 10ms—2) w ;
1) 20 ms~! 2) 15 ms~1 3) 10 ms~! 4)5 ms™1

69. A stone is projected vertically up to reach a maximum height 'h’. The ratio of its

kinetic to potential energies at a height & will be

5 @\
1)5:4 2)4:5 3)1: 4 4)4:1 :

Pagel2
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70.”A:motor of power Py is used to deliver water at a certain rate through a given

71.

72.

fiorizontal pipe. To increase the rate of flow of water through the same pipe n times,

the power of the motor is increased to Py. The ratio of P to Py is

&)

Dn:1 2)n2:1 3)n3:l 4)n4:1 L/

A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
from end 'A’ is on the ground. A 40N we#ght is attached to the end B. The work to be
done to arrange the ladder in vertical position with end 'A' contact with the ground is
1) 190J 2)250] 3) 285] 4) 4757 (2)

.
—

A small block of mass 'm' is kept on a rough inclined surface of inclination 0 fixed in
an elevator. The elevator goes up with a uniform velocity V and the block does not

slide on the wedge. The work done by the force of friction on the block in a time’t’

‘ will be Jétj"

73.

74.

1) Zero 2) mgvt cos29 3) mgvt sinZ0 4) mgvt sin26

A box of mass S0kg at rest is pulled up on an inclined plane 12m long and 2m high by

a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

2ms—1, the work done against friction in Joules is (g = 10ms—2) w
1) 50 2) 100 3) 150 4) 200
A body is.projected vertically up with certain velocity. At a point 'P' in its path, the

ratio of its potential to kinetic energies is 9: 16. The ratio of velocity of projection to

velocity at 'P' is

1)3: 4 2)5: 4 3)9:25 4)25: 16
\‘\ - —
L\ /,'/
\ ——
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75‘:':When a body is projected vertically up, at a point 'P" in its path, the ratio of potential

76.

77.

78.

79.

80.

81.

82.

% kinetic energies is 3: 4. If the same body were to be projected with two times the

Q)

initial velocity, the ratio of potential to Kkinetic energies at the same point is
1)3:25 2)3:28 3)1:20 4y 1:25

The most abundant metal in earth's crust is
1) Oxygen 2) Aluminium 3) Iron 4) Silicon
: @
The rare element of the IIIA group elements is
1) Aluminium  2) Boron 3) Gallium Hndom (B

The atomic volume of which element is least

1) Boron 2) Aluminium 3) Gallium 4) Thallium @[’2«
Al and Ga have nearly the same covalent radii, because of (3 ;
1) Greater shielding effect of*s’ electrons of 'Ga’ atoms K_)/ o

2) Poor shielding effect of*s’ electrons of 'Ga’ atoms
3) Poor shielding effect of*d’ electrons of 'Ga’ atoms

4) Greater shielding effect of*d’ electrons of 'Ga’ atoms

Among ITIA group elements the elements with highest and lowest
jonisationpotential are 2
L g
1)B, Tl 2)B, In 3)B, Al 4) B, Ga
IIIA group element with lowest electro- negativity
1) Al 2) Tl 3)B 4) Ga (L) .
The I1IA element with highest melting pointis L
1) Boron 2) Gallium ~ 3) Indium 4) Thalium (’)
P, 1 \\ l\\\_ /-*4',—/ "”/-/,-,.:;/‘
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83&; The IIIA element with least melting point is (341

1) Boron 2) Indium  3) Gallium 4) Aluminium
84. Which of the following does not exhibit inert pair effect? @
1. Bi 2.Pb 3.B 4.T1

85. +Thallous chloride is more stable than Thalljc chloride because of
1) More ionic character

(H)

2) Larger size of TI* ion

3) High hydration energy of TI* ion

4) Inert pair effect
86. Which reacts with acids as well as alkalies? L_B)/
a. Mg 2) Si 3) Al 4) Cu
87. Element with giant molecular structure is () )
aB 2) Al 3) Ga 4) Tl s
88. The non metallic element present in the mineral cryolite is ¢ L])
a. F 2)Cl  3)Br 41 =
L]
89. The maximum covalency of Boron is (
1)4 2)3 3)6 4)5 / )
90. The maximum covalency of Aluminium is
13 2)3 3)6 45 (32 |
91. Aluminium exhibits diagonal relationship with ¢ i<
a. Beryllium  2) Silicon 3) Carbon 4) Germanium N
\ W a7 LT
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1
92. Borax bead test is responded by: &j)
1. Divalent metals 2.Heavy metals
3. Light metal 4 Metals which form coloured metaborates

=

& )

93. Borax bead test is not given by .

a. Aluminium salt 2) Cobaltsalt  3) Copper 4) Nickel salt

94. The metal that does not give the borax bead test (2)
1. Chromium 2.Nickel 3.Lead 4 Manganese

95. The coloured bead produced when borax is heated with Cu is

1. Greenish 2.Green when hot & blue when cold 3. Yellow 4.Red
| 3y
96. Boraxis usedin
1. Qualitative analysis 2.Welding 7
3. Pyrex glass 4.All . 'j/)/

97.Total number of electrons involved in the formation of diborane molecule are

1) 18 2) 12 3)6 4)3
(2
L
98.The number of three centered, 2 electron bonds in diborane is
1)2 2)4 3)3 4)6 Cp
99.The aqueous solution of borax turns red litmus to
a. Blue 2. No Change 3.Red 4. White q W
100.0rthoboric acid when heated to red hot gives @ !

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4.Boric anhydride

— Pagelé -
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8.

AVANTHI INSITUTE OF PHARMACEUTICAL SCIENCES
FREESHIP EXAMINATION TEST

2019-2020
Question Paper Name:PHARMACY Date: 2
Name of the student:m’gﬂ/? QQ{)’A% Duration: 180min

Avanthi Freeship NO:SAT 25 > 019D !C‘f Total Marks:100

‘ Hydrophily and incomplete flowers are present in ( )
1) bigiona  2) Colocasia 3) Vallisnaria 4) Helianiqus

Example 1or dicliny is ( ‘% )
1) Hibiscus 2) Commelina 3) Acalypha 4) Abutilon /
True statement regarding pollination is ( [\l )

I: All bisexual flowers undergo only autogamy. g
II: All unisexual flowers undergo only Xenogamy. 0{
[11; All geitonogamous flowers are not unisexual.

DH1&ll 2) Only III ) I & I 4) Only [

Assertion A: Geitonogamy & Xenogamy can take place in Cocos \_J/)/

Reason R: «ocos is monoecious plant. Pollen may be from same or different plant.
1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false

4) A is false, R is true

Scrophularia is an example for (. :

1) Self sterility 2) Pollen prepotency 3) Protogyny 4) Dicliny
Pollination in hypanthodium inflorescence is ( 3 ) ’
1) Direct pollination 2) Self pollination (/\
3) Cleistogamy 4) Cross pollination

Assertion A: In Commelina always self pollination takes place. M)
Reason R: Commelina shows cleistogamous flowers. \/
1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false
4) A is false, R is true

In Pass{ﬂbm self pollination is prevented by

1) Pollen pre potency 2) Self sterility 3) Triheterostyly  4) Herkogamy




10.

11.

12.

13.

14.

15,

16.

17.

In Lythrum plants flowers show “‘L/

1) Two different lengths of styles 2) Male and female flowers

3) Wide angles between stamens and stigma  4) Three different Tengths of styles
Self pollen grains are poisonous for stigmas of \(/'/m

1) Asteraceae 2) Orchidaceae 3) Fabaceae 4) Solanaceae
In Martynia and Mimulus ( &\

1) Stigmas are shorter than stamens 2) Stigmas mature later than stamens

3) Stigmas are sensitive 4) Stigmas are absent
All flowers with heterostyly also exhibit (

| : Dichogamy I : Sensitive stigmas 111 : Herkogamy V : Self sterility

1 &II DN &I HI&IV 4)1 &1l
In Oxalis the flowers are \(_,

1) Dimorphic 2) Trimorphic 3) Polymorphic 4) Homogamous
Safety mechanism in Asteraceac ensures (

1) Cross pollination in unisexual flowers 2) Self fertilization in unisexual flowers.

3) Self pollination in bisexual flowers. ~ 4) Cross pollination in bisexual flowers.

In Commelina benghalensis ’(/
1) Cleistogamous flowers are aerial .

2) Both cleistogamous & chasmogamous flowers are aerial.

3) Cleistogamous flowers are underground and chasmogamous flowers are aerial.
4) Chasmogamous flowers are absent.
In Helianthus contrivances for cross pollination is ((d‘ -

1) Herkogamy & Heterostyly 2) Heterostyly & Pollen per potency

3) Herkogamy & Protandry 4)Protandry and safety nwchaﬁism
Match the following (E)
List - A List- B e

A Streptocarpus [. Dichogamy

B. Clerodendron 11 Herkogamy

C. Passiflora 111. Cleistogamy
D. Hibiscus V. Dicliny
V. Self Sterility
A B C D A B C D
1) v 1 Y% 1 3) nm I I
» m 1 vooumoo4 I VN \ -
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18.  Even though Herkogamy and Dichogamy is present self pollination is guaranteed@)

)

19.

20.

21.

22

23.

24,

25,

1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum \_-
Homogamy is (3)
1) All flowers opening at the same time on a plant \/,/"

2) All flowers pollinating at the same time on a plant.
3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

Pollination in which maximum genetic variations are seen is (

1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy

Pollination by bats is seen in ( ’ )
o

1) Sausage tree 2) Night queen 3) Sun flower 4) Glory-lily
Dicliny is a contrivance for preventing \_}’ )

1) Autogamy 2) Xenogamy 3) Geitonogamy 4) Cross pollination
In chasmogamous flowers (

1) Always self pollination 2) Always cross pollination

3) Both self & Cross pollination. 4) Neither self nor cross pollination.
Cross pollination that looks like a self pollination ( ] :

1) Xenogamy 2) Geitonogamy

3) Both Xenogamy & Geitonogamy 4) Homogamy

losely related pollen grains cannot germinate fast on the stigma of (7))
1) Passiflora 2) Dolichos 3) Hibiscus 4) Lythrum
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26.

27.

28.

29.

30.

31.

32.

-

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoﬂungs? (
1Cuboidal 2)Columnar /

3)Squamous 4)Ciliatedcolumnar

Whichofthefollowingepitheliu mlinesthemoistsurfaceofthebuccalcavity;;z%x
S

1)Stratiﬁedkcratinizedswquamous 2)Stratifiednon-keratinized$quarmou

3)Cuboidal 4)Stratifiedcolumnar

Whichepitheliumlinestheinnersurfaceoftheurinarybladderanduretersy-

1)Cuboidal 2)Transitional 3)Compound 4)Stratified

Which cell junctions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? ' ( l )
1)Tightjunctions 2)Adheringjunctions v
3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear nd tear
tissue,with little or no intercellular matrix (W) ;—\

1) Epithelialtissue ~ 2)Connectivetissue 3)Musculartissue 4)Nervoustissue

Cellsofgerminalepitheliumare: (3 ) }\

1) Cuboidal 2)Columnar 3)Squamous 4)Ciliated

Ependymatormstheliningof ( } ) /

1) Ventriclesofbrain 2)Ventriclesofheart 3)Intestine 4)Buccalcavity \_/

)
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33.

34.

35.

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? ( Lj ) -
1) Thebodycellsofeumetazoansformtissues - °
2) Animalsaeetcarbonandenergybyingestingotherorganisms
3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: \(, ‘ )

1) Sponges b)Flatworms c¢)Cnidarians d)Roundworms
The blindsac body planis shown by: \/( w

1) Sponges 2)Cnidariansandflatworms

3)Flatwormsandroundworms 4)Roundwormsandearthworms

Which of the following is a rare type of symmetry in animals? ( ’ )72\
£

1) Radial 2)Bilateral 3)Biradial 4)Spherical
Bilateral symmetry is accompanied by: ( (4)\//
1) Neoteny 2)Metamerism 3)Metamorphosis  4)Cephalization
Germ layers in sponges are (3 ){/7L—’

3
1) One 2) Two 3)Three 4)Absent
Besides Annelida and Arthropoda, metamerism is Found in: (L7L+
1) Cestoda 2)Mollusca 3)Chordata 4)Acanthoeephala

Development of mesoderm in the form of muscles in body wall, leaving }/

alimentary canal non-muscular is the feature of: (L}\) A
1)Acoelomates 2)Pseudocoelomates
3)Enterocoelomates 4) Schizocoelomates -
\ \ ///7/
\\. o z ¢
| e RTE D
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41. Whichoneofthefollowingisnotadeuterostome?

1) Cuttlefish 2)Hagfish 3)Starfish

)Catfish

42.  In understanding different types of symmetry, the term used as principal axis
means: ( \ )
1) A flat area that runs through any axis '
2) An imaginary straight line joining two 8pposite points at the ends
3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end

4) An imaginary line passing through focus.

43. Which of the following option is correct? ( 2 ),

A) If a bone is kept in Hel for some time, its inorganic part is dissolved and organic

part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleﬁbehind

1)Aiscorrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothAé&Bareincorrect

44. Which of the following is not correct w.r.t Cartilage? ()~
1) Intercellularmaterialofcartilageissolidandpliable t/

2) Itresistscompression

3) Allthecarti1agesinvertebrateembryoarerep1acedbybonesinadu1t

4) Chondrocytesarecellsofcartilage

45. Which of the following forms the internasal septum ( \«)7

1) Fibrous cartilage

2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage
,->/ =

\ D
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46. The cross section of the body of an invertebrate is given below. Identify the

animal which has this body plan ( ‘ /

Body wall
Parenchyma

Alimentary canal

1)Planaria
2)Earthworm
3)Cockroach

4)Roundworm |\

B
P
\
\
X

\ pRINCIPAL
avanth B STITUTE OF
T vt PN o = i l::.':‘,{__ r“-]:.b
PHARMAC SCIENCES
Gunthapfzil-” { )y :n'_jlf;n&[ l‘TA),
nR.D fani

- Page7

59



47. ,‘;The figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect

to common characteristics of two of these animals U)
: ,'/‘

L #

) ” ”
L
1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall
3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence
. i
48. ThepercentageoftotalvolumeoccupiedbyRBCsis Cy 4
/ 4)Haemophilia

1) Haematuria 2)Haemolysis 3)Hem€coc it
/

49.  Study the following and identify the set of correct statement(s) pe 'iﬁing to mature
mammalian RBCs.
i. Theyarecircular,biconcaveandenucleateinallmamm
ii. TheyareellipticalinshapeincamelsandLlamas.
iii. ThetotalRBCscountinawomanismorethanthatofaman.
iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high
altitudes.
DI&AV &IV 3)only 4)Ionly

50. Identify the pair of vitamins which are essential for the maturation of RBC in man. U’f

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac

Page8
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51..

52.

53.

54.

55.

For conservative force G{)
1) Work done is independent of the path X At

2) Work done in a closed loop is zero

3) Work done against conservative force is stored is the form of potential energy

4) All the above

Two springs have their force constants l‘q and k) and they are stretched to the same
extension. If kg > k1 work done is (3) -

1) Same in both the springs \__"2) More in spring K|

3) More in spring K2 . 4) None

Two springs have their force constants k1 and k2 (K2>_K1). When they are stretched
by the same force, work done is L@) -

1) Same in both the springs 2) More in spring K|

3) More in spring K2 4) None

A lorry and a car moving with same KE are brought to rest by applying the same
retarding force. Then C/C“

1) Lorrjz will come to rest in a shorter distancé

2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance

4) None
L ]
A lorry and a car moving with same momentum are brought to rest by applying the

same retarding force. Then /?/
1) Lorry will come to rest in a shorter distance2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance 4) None
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56. ::When a wound spring is dissolved in an acid, the temperature of the\%-
atid

1)Increases 2) Decreases 3) Remains same 4) None

57. A) Work done by frictional force is always negative. @ )
B) A body at rest can have mechanical energy. /
C) Mechanical energy of freely falling body decrease gradually.
1) Only A is true ¥ 2) Only B is true
3) Only C is true 4) All the three one true

58. Match the pairs in two lists given below. C})

-

List-1 List - II
a) Gravitational force ¢) Decreases
b) Fractional force f) Conservative force

¢) KE of a dropped body g) Non-Conservative force

d) PE of a dropped h) Increases body
1) a-f,b-h, c-g, d-e 2) a-f, b-g,c-h,d-e
3) a-f,b-g,c-¢,d-h 4) a-h, b-g,c-f,d-e
59. A body is allowed to fall from a height h above the ground. Then match the
following. S
List-1 List - II
a) PE=KI» e) At height h/2
b) PE=2KE f) Constant at any point
¢) KE =2PE g) At height 2h/3
d) PE +KE h) At height h/3
1) a-e, b-g,c-h,d-f 2) a-g,b-e,c-f,d-h
3) a-f, b-g,c-¢,d-h 4) a-e,b-h,c-g,d-f
NS Pagelo i i
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60. AY When a person is walking horizontally with a suitcase on his head, no work is
done by him against gravitational force.

R): Gravitational force on suitcase acts vertically downwards and motion is in
horizontal direction, hence dot product becomes zero. Cf)
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A). /
3) (A) is true and (R) is false. '
4) (A) is false but (R) is true.

61. A) Work done by gravitational force in moving a body is path independent.
R) Gravitational force is non conservative force. CZ)
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false.
4) (A) is false but (R) is true.

s

62. A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work
done in pulling the entire chain on to the table? (g =10 m/s2) @

1)7.2] 2)3.6] 3) 120J 4) 1200] /

63. A rectangular block of dimensions 6m x 4m x 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms*‘2/)Q%j
1) 2880 kJ —

2) 1400K]

3) 3800K]

4) 720kJ
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64. Aﬁlﬁ*‘dder 'AB' of weight 300N and length 5m is lying on a horizontal surface. Its
céﬁ’%i'e of gravity is at a distance of '2m' from end A. A weight of 80N is attached at
end B. The work done in raising the ladder to the vertical position with end 'A' in
contact with the ground is C% ) ’

1) 5001 2) 1000J 3) 11507 y 4) 1900J

65. A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g= lﬂms_z)cll =
1)-0.5] 2)-1.25] 3) 1.25] 4)0.5]

66. A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic

energy at the highest point is ( //)g/

K 2) Zero 3) K/4 HK2 \_-

67. A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of

volume 2238 litres at a height of 10m from the ground. The running time of the

motor to fill the empty tank is (g =10 ms—2) C')
1) 5 min 2) 10 min 3) 15 min 4)20 min /

68. A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and rebounds to the
same heiglit. The velocity of projection is (g = 10ms—2) CZ )
1) 20 ms1 2) 15 ms~1 3) 10 ms™1 4)5 ms~V/

69. A stone is projected vertically up to reach a maximum height 'h'. The ratio of its

kinetic to potential energies at a height 4—h-will be C,}
s V
1)5:4 2)4:5 3)1: 4 4 4:1
\ il 5
\\ / L/
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70.” A>motor of power P is used to deliver water at a certain rate through a given

71.

72.

Horizontal pipe. To increase the rate of flow of water through the same pipe n times,

the power of the motor is increased to P1. The ratio of Py to Py is

B -
Dn:1 2)n? : 1 3)n3: 1 4)Qii)/////

A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
from end 'A' is on the ground. A 40N weight is attached to the end B. The work to be

done to arrange the ladder in vertical position with end 'A' contact with the ground is

1) 1907 2) 2501 3)285] 4)47311//Q§§j

A small block of mass 'm' is kept on a rough inclined surface of inclination 6 fixed in
an elevator. The elevator goes up with a uniform velocity V and the block does not

slide on the wedge. The work done by the force of friction on the block in a ﬁme’L

 will be (2

73.

74.

1) Zero 2) mgvt c0s26 3) mgvt sin26 4) mgvt sin20

A box of mass 50kg at rest is pulled up on an inclined plane 12m long and 2m high by
a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

2ms—1, the work done against friction in Joules is (g = 10ms—2) C&) /
1) 50 2) 100 3) 150 4) 200

A body is.projected vertically up with certain velocity. At a point 'P' in its path, the

ratio of its potential to kinetic energies is 9: 16. The ratio of velocity of projection to

velocity at 'P' is C?/,)

1)3:4 2)5:4 3)9:25 4)25:16
\ i
\ _\g/,/’”?)
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7. When a body is projected vertically up, at a point 'P' in its path, the ratio of potential

76.

7.

78.

™

80.

81.

82.

gf} kinetic energies is 3: 4. If the same body were to be projected with two times the

initial velocity, the ratio of potential to kinetic energies at the same point is k@/

1)3:25 2)3:28 3)1:20 4)1:25
The most abundant metal in earth's crust is C/'g\/% /
1) Oxygen 2) Aluminium 3) Iron 4) Silicon
1

The rare element of the IIIA group elements is C)—D

1) Aluminium 2) Boron 3) Gallium =~ " 4) Indium
-

The atomic volume of which element is least U) i

1) Boron 2) Aluminium 3) Gallium L 4) Thallium

Al and Ga have nearly the same covalent radii, because of C@

1) Greater shielding effect of's’ electrons of 'Ga' atoms & o il
2) Poor shielding effect of*s” electrons of 'Ga' atoms

3) Poor shielding effect of*d’ electrons of 'Ga' atoms

4) Greater shielding effect of*d” electrons of 'Ga' atoms

Among IIIA group elements the elements with highest and lowest Q

jonisationpotential are N
1)B, Tl 2)B,In  3)B,Al 4)B, Ga
IHA group element with lowest electro- negativity u )
1) Al 2) Tl 3)B 4) Ga _
The IIIA element with highest melting point is Q)) 7
1) Boron 2) Gallium ~ 3) Indium 4) Thalium \_/ B

\ \ g
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83,3 The ITIA element with least melting point is @ )

1) Boron 2)Indium  3) Galljum 4) AIuminiEn/

84. Which of the following does not exhibit inert pair effect? C%)
1. Bi 2.Pb 3B 4TI o

85. +Thallous chloride js more stable than Thalljc chloride because of
1) More ionic character
2) Larger size of TIT ion

3) High hydration energy of TI* jon
4) Inert pair effect

86. Which reacts with acids as well as alkalies? C&%)\

a. Mg 2) Si 3) Al 4) Cu

87. Element with giant molecular structure is ! ) o
a.B 2) Al 3) Ga 4) Tl Xt

88. The non metallic element present in the mineral cryolite is QL{) )

a F  2)Cl 3)Br 4] e A

3

89. The maximum covalency of Boron is U )/

)4 2)3 3)6 4)5 A
90. The maximum covalency of Aluminium is 2 D/

1)3 2)3 3)6 45 &}
91. Aluminium exhibits diagonal relationship with C' )// |

a. Beryllium  2) Silicon 3) Carbon 4) Germanium \_~ L g
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92. Borax bead test is responded by: Q—-‘)
1. Divalent metals 2.Heavy metals :

3. Light metal 4 Metals which form coloured metaborates
93. Borax bead test is not given by . O >
a. Aluminium salt 2) Cobaltsalt  3) Copper Nickel salt
94. The metal that does not give the borax bead test C_ig/
1. Chromium 2.Nickel 3.Lead 4 Mang -

95. The coloured bead produced when borax is heated with Cu is Cy/ ]
1. Greenish 2.Green when hot & blue when cold 3. Yellow 4 Red

96. Boraxis usedin |

1. Qualitative analysis 2.Welding K_Q/Lt)/ '

3. Pyrex glass 4.All

97.Total number of electrons involved in the formation of diborane molecule w

1)18 2) 12 3)6 4)3

98.The number of three centered, 2 electron bonds in diborane is (/t’j

1)2 2)4 3)3 4)6
99.The aqueous solution of borax turns red litmus to \/G/)
a. Blue 2. No Change 3. Red 4. White

100.0rthoboric acid when heated to red hot gives k/eq)

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4 .Boric anhydride —~
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D3 23 32 41
D3 12)1 13)2 14)3
21)1 22)1  23)3 24y
3)1 32)1 33)4 34)1
41)1 42)3  43)1  44)3
SIM 52)3 53)2  s4)3
61)3 62)2 632 64)2
M2 )1 B2 74)2
S1)1 82)1  83)3

84)3  85)4  86)3
94)3  95)3  96)4

871
97)2

key

553 64 7
153 163 17)2
252 26)3 272
352 360 37)4
452 46)1 47)1
51 561  57)2
652  66)3 67)3
751 76)2 77)4
88)4  89)1
98)1  99)]

8) 2

18)2
28)2
38) 4
48) 3
58)2
68) 1
78) 1

90) 3
100) 4

——— Pagel7 ——

9)4 10)2
19)3 203
29)3  30)1
39)3  40)2
49)3  50)4
591  60)1
69)3  70)3
793 80)2

911  92)4 93) 1
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AVANTHI INSITUTE OF PHARMACEUTICAL SCIENCES
FREESHIP EXAMINATION TEST

2019-2020
Question Paper Name:PHARMACY Date: O & ,O:]', 20 lq

Name of the student: N th‘[)\ Duration:180min
Avanthi Freeship No: ﬂ:] |2 (20 [3 D Cf(_f, Total Marks:100

Hydrophily and incomplete flowers are present in ;)fj/
1) bigiona 2) Colocasia 3) Vallisnaria 4) Helianthus

;3)/
1) Hibiscus 2) Commelina 3) Acalypha 4) Abutilon

True statement regarding pollination is ( )
[: All bisexual flowers undergo only autogamy.
I1: All unisexual flowers undergo only Xenogamy. &

I1I: All geitonogamous flowers are not unisexual.

11 &1l 2) Only 1II 3) 1 & 111 4) Only I

Assertion A: Geitonogamy & Xenogamy can take place in Cocos ( 7
Reason R: Cocos is monoecious plant. Pollen may be from same or different ant.

I) Both A and R are true and R is the correct explanation of A.

~_

Example for dicliny is

—_—

2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false
4) A is false, R is true

Scrophularia is an example for ( )
1) Self sterility 2) Pollen prepotency 3) Protogyny 4) Dicliny
Pollination in hypanthodium inflorescence is ( L\ )
1) Direct pollination 2) Self pollination
3) Cleistogamy 4) Cross pollination
Assertion A: In Commelina always self pollination takes place. (_U) //,
Reason R: Commelina shows cleistogamous flowers. /”

1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
3) A is true, R is false
4) A is false, R is true
In Passiflora self pollination is prevented by (

1) Pollen pre potency 2) Self sterility 3) Triheterostyly  4) Herkogamv ~




10.

11.

12.

13.

14.

15.

16.

17.

ra

In Lythrum plants flowers show ((j}/

1) Two different lengths of styles 2) Male ‘and female flowers

3) Wide angles between stamens and stigma 4) Three differen lengths of styles
Self pollen grains are poisonous for stigmas of (a\ )

1) Asteraceae 2) Orchidaceae 3) Fabaceae 4) Solanacea¢
In Martynia and Mimulus (

1) Stigmas are shorter than stamens 2) Stigmas mature late than stamens

3) Stigmas are sensitive 4) Stigmas are absent
All flowers with heterostyly also exhibit (50;\<

[ : Dichogamy 1] : Sensitive stigmas I1I : Herkogamy IV : Self sterility

D& 2) I & 111 NI&IV Hl&ll
In Oxalis the flowers are ( \ ) (><

1) Dimorphic 2) Trimorphic 3) Polymorphic 4) Hor@gamous
Safety mechanism in Asteraceae ensures (3)

1) Cross pollination ‘n unisexual flowers 2) Self fertilizatioriri unisexual flowers.

3) Self pollination in bisexual flowers. ~ 4) Cross pollination in bisexual flowers.

(D )/

2) Both cleistogamous & chasmogamous flowers are aerial.

In Commelina benghalensis

1) Cleistogamous flowers are aerial

3) Cleistogamous flowers are underground and chasmogamous flowers are aerial.
4) Chasmogamous flowers are absent.
In Helianthus contrivances for cross pollination is (zy/
1) Herkogamy & Heterostyly 2) Heterostyly & Pollen per potency
3) Herkogamy & Protandry 4)Protandry and safety mechanism
Match the following (Qyﬂ/
List - A List - B
A Streptocarpus 1. Dichogamy
B. Clerodendron 11 Herkogamy

C. Passiflora 111. Cleistogamy
D. Hibiscus 1V. Dicliny
V. Self Sterility
A B c D A B

1) v l v 11 3) 111 [
2) 111 1 \Y [1 4) 11 11




18.  Even though Herkogamy and Dichogamy is present self pollination is guaranteed(@{/
1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum

19. Homogamy is (3
1) All flowers opening at the same time on a plant /
2) All flowers pollinating at the same time on a plant.
3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

| 20. Pollination in which maximum genetic variations are seen is ( \D{
1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy

21.  Pollination by bats is seen in

(\)/-’

1) Sausage tree 2) Night queen 3) Sun flower 4) Glory-lily
22.  Dicliny is a contrivance for preventing (3)

1) Autogamy 2) Xenogamy 3) Geitonogamy 4) Cross pollination
23. In chasmogamous flowers 2) /

1) Always self pollination 2) Always cross pollinatjon”

3) Both self & Cross pollination. 4) Neither self nor cross pollination.

24,  Cross pollination that looks like a self pollination (;%/
1) Xenogamy 2) Geitonogamy

3) Both Xenogamy & Geitonogamy 4) Homogamy

25.  Closely related pollen grains cannot germinate fast on the stigma of (é‘{) /
1) Passiflora 2) Dolichos 3) Hibiscus 4y Lythrum et
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26.

27.

28.

29,

30.

31.

32,

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoflungs? (\3)) /
1)Cuboidal 2)Columnar

3)Squamous 4)Ciliatedcolumnar

Whichofthefollowingepitheliumlinesthemoistsurfaceofthebuccalcavity? Q) /
1 )Stratiﬁedkeratinizedsﬁuamous 2)Stratiﬁednon-keratinizedsqua-mous'

3)Cuboidal 4)Stratifiedcolumnar

Whichepitheliumlinestheinnersurfaceoftheurinarybladderandureters? (/@<
1)Cuboidal 2)Transitional 3)Compound 4)Stratified ‘

Which cell junctions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? (
1)Tightjunctions 2)Adheringjunctions : |

3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear and tear
tissue,with little or no intercellular matrix ( \ ) //

1) Epithelialtissue ~ 2)Connectivetissue 3)Musculartissue 4)Nen¥ustissue

1) Cuboidal 2)Columnar 3)Squamous 4)Ciliated

Ependymaformstheliningof ( %9<
1) Ventriclesofbrain 2)Ventriclesofheart 3)Intestine 4)Buccalcavity ;

Cellsofgerminalepitheliumare: (\ /

L6 “"JCI?AL E
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33,

34,

35

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? (kP )
1) Thebodycellsofeumetazoansformtissues
2) Animalsgetcarbonandenergybyingestingotherorganisms
3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: ( ‘ )
1) Sponges b)Flatworms ¢)Cnidarians d)Roundworms
The blindsac body planis shown by: (CQ /
1) Sponges 2)Cnidariansandflatworms
3)Flatwormsandroundworms 4)Roundwormsandearthworms

Which of the following is a rare type of symmetry in animals? (\_J‘ )

1) Radial 2)Bilateral 3)Biradial pherical
Bilateral symnisetry is accompanied by: ( L‘ )/
1) Neoteny 2)Metamerism 3)Metamorphosis  4)Cephalization

Germ layers in sponges are

g,
1) One 2) Two 3)Three 4)@{

Besides Annelida and Arthropoda, metamerism is Found in: (5)
1) Cestoda 2)Mollusca 3)Chordata 4)Acanthotephala

Development of mesoderm in the form of muscles in body wall, leaving

alimentary canal non-muscular is the feature of: (& )
1)Acoelomates 2)Pseudocoelomates
3)Enterocoelomates 4) Schizocoelomates

Page5
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41.

42,

43.

44.

45.

Whichoneofthefollowingisnotadeuterostome? ( )

1) Cuttlefish 2)Hagfish 3)Starfish =~  4)Catfish

In understanding different types of symmetry, the term used as principal axis

means: (D? s

1) A flat area that runs through any axis

2) An imaginary straight line joining two opposite points at the ends

3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end

4) An imaginary line passing through focus.

/)’ g
Which of the following option is correct? ( \ )/

A) If a bone is kept in Hel for some time, its inorganic part is dissolved and organic

part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleftbehind

1)Aiscorrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothA&Bareincorrect

Which of the fo.iowing is not correct w.r.t Cartilage?  ( 3) /

1) Intercellularmaterialofcarti1ageissolidandpliable

2) Itresistscompression

3) Allthecartilagesinvertebrateembryoarereplacedbybonesinadult

4) Chondrocytesarecellsofcartilage

Which of the following forms the internasal septum ( 5?)

1) Fibrous ¢rtilage
2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage
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The cross section of the body of an invertebrate is given below. Ide»ﬁfy the
animal which has this body plan \(V

- Body wall
Parenchyma

Alimentary canal

1)Planaria
2)Earthworm
3)Cockroach
4)Roundworm \ }
AL
I . .. 1

LTI AL (WA
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47. ZT he figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect
&
to common characteristics of two of these animals C_\ )

1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall
3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence

48. ThepercentageoftotalvolumeoccupiedbyRBCsis 65 ) J
1) Haematuria 2)Haemolysis 3)Hematocrit W)Haemophilia

49.  Study the following and identify the set of correct statement(s) pertaining to mature
mammalian RBCs. Q&
i. Theyarecircular,biconcaveandenucleateinallmammals.
ii. TheyareellipticalinshapeincamelsandLlamas.
iii. Thetotal RBCscountinawomanismorethanthatofanran.
iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high
altitudes.
DIgAvV D&V 3)Ilonly 4)[Ionly

50. Identify the pair of vitamins which are essential for the maturation of RBC in many

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac
l /_/'/
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51..

32.

53.

4.

55.

4t

For conservative force L\V

1) Work done is independent of the path

pr

r

2

2) Work done in a closed loop is zero
3) Work done against conservative force is stored is the form of potential energy

4) All the above

%
Two springs have their force constants kj and kp and they are stretched to the same

extension. If kp > k1 work done is LE))
1) Same in both the springs 2) More in spring K|
3) More in spring K2 : 4) None

Two springs have their force constants ki and k2 (K2>K1). When they are stretched

by the same force, work done is )

1) Same in both the springs 2) More in spring K| 2o

3) More in spring K2 4) None

A lorry and a car moving with same KE are brought to rest by applying the same
retarding force. Then C Ef)

1) Lorry will come to rest in a shorter distance ~/

2) Car will come to rest in a shorter distance
3) Both come to ret in the same distance

4) None

A lorry and a car moving with same momentum are brought to rest by applying the
same retarding force. Then \
1) Lorry will come to rest in a shorter distance2) Car will come to rest ind shorter distance

3) Both come to ret in the same distance 4) None




56. :.When a wound spring is dissolved in an acid, the temperature of the C\ )

.. 8

38.

59.

atid

1Increases

A) Work done by frictional force is always negative.
B) A body at rest can have mechanical energy.

C) Mechanical energy of freely falling body decrease gradually.

1) Only A is true
3) Only C is true

Match the pairs in two lists given below.

List - I

a) Gravitational force

b) Fractional force

¢) KE of a dropped body
d) PE of a dropped

1) a-f,b-h, c-g, d-e
3) a-f,b- -g.c-¢, d-h

2) Decreases

3) Remains same 4) None

()
¥2) Only B is true

4) All the three one true

()~

List - II

e) Decreases

f) Conservative force

g) Non-Conservative force

h) Increases body

2) a-f, b-g,c-h,d-e
4) a-h, b-g,c-f,d-e

A body is allowed to fall from a height h above the ground. Then match the C\/
following.

List -1

a) PE=KI»
b) PE=2KE
¢) KE =2PE
d) PE +KE

1) a-e, b-g,c-h,d-f
3) a-f, b-g,c-e,d-h

List -II

e) At height h/2

f) Constant at any point
g) At height 2h/3

h) At height h/3

2) a-g,b-e,c-f,d-h
4) a-e,b-h,c-g,d-f

\\‘ A
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60.

61.

62.

63.

A‘f‘ When a person is walking horizontally with a suitcase on his head, no work is

done by him against gravitational force. ' /
R): Gravitational force on suitcase acts vertically downwards and motion is in C V
horizontal direction, hence dot product becomes Zero. B
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false. '
4) (A) is false but (R) is true.

A) Work done by gravitational force in moving a body is path independent. @4

R) Gravitational force is non conservative force.

1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false.

4) (A) is false but (R) is true.

A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work

done in pulling the entire chain on to the table? (g=10 m/s%) C é)(

1)7.27 2) 3.6 3) 120] 4) 1200]

A rectangular block of dimensions 6m x 4m x 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms‘2)

20"
1) 2880 kJ )/
¥,
2) 1400Kj
3) 3800K] \ -
4) 720kJ \\\,/
\ -
g
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65.

66.

67.

68.

69.

.....

cefitre of gravity is at a distance of '2m' from end A. A weight of 80N is attached at

end B. The work done in raising the ladder to the vertical position with end 'A' in C,%'/j
contact with the ground is

1) 5007 2) 1000J 3) 11507 4) 1900

A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g = 10ms‘2§;
1)-0.5] 2)-1.23] 3) 1.25] 4)0.5)

A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic
energy at the highest point is CZ))
1)K 2) Zero 3)K/4 K 7

A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of

volume 2238 litres at a height of 10m from the ground. The running time of th
motor to fill the empty tank is (g =10 ms—z) 3
1) 5 min 2) 10 min 3) 15 min 4) 20 min

A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and reboundiV{
same height. The velocity of projection is (g = 10ms‘2)
1) 20 ms~1 2) 15 ms~! 3) 10 ms—1 4)5 ms~1

A stone is projected vertically up to reach a maximum height 'h'. The ratio of its (é?

Kkinetic to potential energies at a height %will be

1)5: 4 2)4: 5 3)1: 4
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70. A:motor of power P is used to deliver water at a certain rate through a given

71.

72.

forizontal pipe. To increase the rate of flow of water through the same pipe n times,
the power of the motor is increased to P1. The ratio of P1 to P is Czi)/

)n:1 2)n? : 1 3)nd: 1 4n4:1

A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
from end 'A’ is on the ground. A 40N weight is attached to the end B. The work to be
done to arrange the ladder in vertical position with end 'A' contact with the ground is”
1) 190J 2) 250] 3) 285] 4)475] 6

A small block of mass 'm' is kept on a rough inclined surface of inclination 0 fixed in

an elevator. The elevator goes up with a uniform velocity V and the block does not

will be

73.

74.

1) Zero 2) mgvt c0s20 3) mgvt sin20 4) mgvt sin26

A box of mass 50kg at rest is pulled up on an inclined plane 12m long and 2m high by

a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

|
2ms—1, the work done against friction in Joules is (g = 10ms—2) ( )

'
1) 50 2) 100 3) 150 4) 200 /"\

A body is‘projected vertically up with certain velocity. At a point 'P' in its path, the

ratio of its potential to kinetic energies is 9: 16. The ratio of velocity of projection to

velocity at 'P' is (iz)/
1)3:4 2)5:4 3)9:25 4)25:16

\"= \ -
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slide on the wedge. The work done by the force of friction on the block in a time’&’(%
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7.‘;:-"\7Yhen a body is projected vertically up, at a point 'P' in its path, the ratio of potential
%o kinetic energies is 3: 4. If the same body were to be projected with two times the
initial velocity, the ratio of potential to kinetic energies at the same point is y

1)3:25 2)3:28 3)1:20 4)1:25
76. The most abundant metal in earth's crust is (Z)
1) Oxygen 2) Aluminium 3) Iron 4) Silicon ~

% i f
77.  The rare element of the IlIA group elements is CL-[\)/

1) Aluminium 2) Boron 3) Gallium 4) Indium

(4404

1) Boron 2) Aluminium 3) Gallium 4) Thallium

78. The atomic volume of which element is least

79. Al and Ga have nearly the same covalent radii, because of C‘Q b(

1) Greater shielding effect of*s’ electrons of 'Ga’ atoms
2) Poor shielding effect of's’ electrons of 'Ga’ atoms
3) Poor shielding effect of*d’ electrons of 'Ga’ atoms

4) Greater shielding effect of*d’ electrons of 'Ga’ atoms

80. Among IIIA group elements the elements with highest and lowestC

jonisationpotential are

1)B, Tl 2) B, In 3)B, Al 4)B, Ga

81. IHA group element with lowest electro- negativity LA k ) Fa
1) Al 2) Tl 3)B 4) Ga

$2. The IIIA element with highest melting pointis C » o

1) Boron 2) Gallium 3) Indium 4) Thalium »
\ \\ // 7
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83;; The IIIA element with least melting point is C_'S 2/

1) Boron 2) Indium  3) Gallium 4) Aluminium

84. Which of the following does not exhibit inert pair effect? C:j)) J
1. Bi 2.Pb 3.B 4.T1

85. +Thallous chloride is more stable thah Thallic chloride because of C y |
1) More ionic character
2) Larger size of T1* ion

3) High hydration energy of TI* ion
4) Inert pair effect

/
86. Which reacts with acids as well as alkalies? C 5)
a. Mg 2) Si 3) Al 4) Cu

87. Element with giant molecular structure is QW

a. B 2) Al 3) Ga 4) Tl

88. The non metallic element present in the mineral cryolite is (o%
a. F 2)Cl  3)Br 4)1 '

3 3

//'
3
89. The maximum covalency of Boron is LC\— )O&J

14 2)3 3)6 4)5

90. The maximum covalency of Aluminium is C\—% ) \/
1)3 2)3 3)6 45

91. Aluminium exhibits diagonal relationship with CGQ\ .

3
~a Beryllium  2)Silicon  3) Carbon 4) Germanium \ P ,
e — M"A“FETTCTW & TE OF
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92. Borax bead test is responded by: ( U ) "
1. Divalent metals 2.Heavy metals
3. Light metal ' 4.Metals which form coloured metaborates
93. Borax bead test is not given b (%
g ) . 495

a. Aluminium salt 2) Cobaltsalt  3) Copper 4) Nickel salt

94. The metal that does not give the borax bead test C5y
1. Chromium 2 Nickel 3.Lead 4. Manganese

95. The coloured bead produced when borax is heated with Cu is (?}
4.Red

1. Greenish 2.Green when hot & blue when cold 3. Yellow
96. Boraxis usedin ( 02,%

1. Qualitative analysis 2.Welding ) \

3. Pyrex glass 4.All

97.Total number of electrons involved in the formation of diborane molecule are

1) 18 2) 12 3)6 4)3 C \

98.The number of three centered, 2 electron bonds in diborane is (&%

1)2 2) 4 3)3 4)6
99.The aqueous solution of borax turns red litmus to C}]@Q
a. Blue 2. No Change 3. Red 4. White
100.0rthoboric acid when heated to red hot gives C u’)'w

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4 .Boric anhydndjx ~
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AVANTHI INSITUTE OF PHARMACEUTICAL SCIENCES \O
FREESHIP EXAMINATION TEST

2019-2020
Question I aper Name: PHARMA% Date: )& {0:)( 'LDLCT
Name of the student: 'A 11 Duration:180min
Avanthi Freeship No: A<y ‘23 ) Q!Ej D:)_Lf Total Marks:100
1. Hydrophily and incomplete flowers are present in (/2/)/
1) bigiona  2) Colocasia 3) Vallisnaria 4) Helianthus
2. Example for dicliny is L;Z)/

1) Hibiscus 2) Commelina 3) Acalypha 4y Abutilon
3. True stateinent regarding pollination is (\-/M
I: All bisexual flowers undergo only autogamy.
I1: All unisexual flowers undergo only Xenogamy.
11I: All geitonogamous flowers are not unisexual.
D1& Il 2) Only 1II I &I 4) Only [
| 4, Assertion A: Geitonogamy & Xenogamy can take place in Cocos ( )
| Reason R: Cocos is monoecious plant. Pollen may be from same or different plant.
| 1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.

3) A is true, R is false

4) A is false, R is true
| 3 Scrophularia is an example for ( [ y

1) Self sterility 2) Pollen prepotency 3) Protogyny 4) Diclin
6. Pollination in hypanthodium inflorescence is ( ’L?L
/

i 1) Direct pollination 2) Self pollination
| 3) Cleistogamy 4) Cross pollination
7 Assertion A: In Commelina always self pollination takes place. @ )/L
Reason R: Commelina shows cleistogamous flowers. {
1) Both A and R are true and R is the correcl explanation of A.
2) Both A and R are true but R is not the correct explanation of A.
' 3) A is true, R is false
4) A is false, R is true
|E 8. In Passiflora self pollination is prevented by ( L}; )
| 1) Pollen pre potency 2) Self sterility 3) Triheterostyly — 4) Herkqgam_
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10.

11.

12.

13.

14.

15.

16.

17.

In Lythrum plants flowers show (g)

1) Two different lengths of styles 2) Male and female flowers

4) Three different | hs of styles

2) Wide angles between stamens and stigma

Self pollen grains are poisonous for stigmas of (

1) Asteraceae 2) Orchidaceae 3) Fabaceae 4) Solanaceae

In Martynia and Mimulus (2)

1) Stigmas are shorter than stamens 2) Stigmas mature later than stamens

3) Stigmas are sensitive 4) Stigmas are absV
All flowers with heterostyly also exhibit ( I

[ : Dichogamy 11 : Sensitive stigmas III : Herkogamy [V : Self sterility

DHI&l 2) T & 111 NI&IV 4)1 &A1
In Oxalis the flowers are ( 2_\)_/

1) Dimorphie 2) Trimorphic 3) Polymorphic 4) Homogameus
Safety mechanism in Asteraceae ensures ( Z/

1) Cross pollination in unisexual flowers 2) Self fertilization in unisexual flowers.

3) Self pollination in bisexual flowers.  4) Cross pollination in bisexual flowers.

In Commelina benghalensis ( Z)\/
1) Cleistogamous flowers are aerial
2) Both cleistogamous & chasmogamous flowers are aerial.

3) Cleistogamous flowers are underground and chasmogamous flowers are aerial.

4) Chasmogamous flowers are absent.
In Helianthus contrivances for cross pollination is M
1) Herkogamy & Heterostyly 2) Heterostyly & Pollen per potency
3) Herkogamy & Protandry 4)Protandry and safety mechanism
Match the following [(V }
List- A List - B
A Streptocarpus [. Dichogamy
B. Clerodendron 1. Herkogamy

C. Passiflora 111. Cleistogamy
D. Hibiscus IV. Dicliny

V. Self Sterility

A B C D A B & D
1) v 1 A% 11 3) m 1 11 Y \.\ \ /,,/;///_
2) m 1 \Y 11 4) 11 nm v v \ o //,-/'"
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18.  Even though Herkogamy and Dichogamy is present self pollination is guaranteed( @) )

19.

20.

21.

22,

23.

24,

25.

1) Gloriosa 2) Helianthus 3) Clerodendron 4) Solanum

Homogamy is (7 _
1) All flowers opening at the same time on a plant /
2) All flowers pollinating at the same time on a plant.

3) In a flower both male & female sex organs maturing at same time.

4) In a flower both male & female sex organs look alike.

Pollination in which maximum genetic variations are seen is (/

1) Geitonogamy 2) Autogamy 3) Xenogamy 4) Cleistogamy
Pollination by bats is seen in t\/

1) Sausage tree 2) Night queen 3) Sun flower 4) Glory-lily
Dicliny is a contrivance for preventing ( Zlgl\

1) Autogamy 2) Xenogamy 3) Geitonogamy 4) Cross pollination
In chasmogamous flowers ( ’ b(

1) Always self pollination 2) Always cross pollination

3) Both self & Cross pollination. 4) Neither self nor cross pollination.
Cross pollination that looks like a self pollination (g)

1) Xenogamy 2) Geitonogamy

3) Both Xenogamy & Geitonogamy 4) Homogamy

Closely related pollen grains cannot germinate fast on the stigma of () ) 3
1) Passiflora 2) Dolichos 3) Hibiscus 4) L}i!hi‘M
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26.

27.

28.

29.

30.

31.

32.

Whichepithelialtissueexistsinthewallsofbloodvessels,andsacsoflungs? (3)

1)Cuboidal 2)Columnar \/
4)Ciliatedcolumnar

3)Squamous

Whichofthefollowingepitheliumlinesthemoistsurfaceofthebuccaleavity? ()
1)Stratifiedkeratinizedsquamous 2)Stratifiednon-ker atmlzedsquamous

3)Cuboidal 4)Stratifiedcolumnar L//
Whichepitheliumlinestheinnersurfaceoftheurinarybladderandureters?(/gj\
1)Cuboidal 2)Transitional 3)Compound 4)Stratified by 1

Which cell junctions facilitate the cells to communicate with each other by

connecting thecytoplasm ofadjoining cells for rapid transfer of ions and

molecules? (
1)Tightjunctions 2)Adheringjunctions
3)Gapjunctions 4)Desmosome

Mark the tissue which is most primitive, omnipresent and called as wear and tear

tissue,with little or no intercellular matrix

1) Epithelialtissue  2)Connectivetissue 3)Musculartissue 4)Nervoustissue

Cellsofgerminalepitheliumare: k(}/)/
1) Cuboidal 2)Columnar 3)Squamous 4)Ciliated

Ependymaformstheliningof -\w/'/

1) Ventriclesofbrain 2)Ventriclesotheart 3)Intestine 4)Buccalcavity
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33.

34.

3S.

36.

37.

38.

39.

40.

Whichoneofthefollowingstatementsisfalse? ( L{ )
1) Thebodycellsofeumetazoansformtissues L/
2) Animalsgetcarbonandenergybyingestingotherorganisms
3) Animalsaremotile;possessactivemovementduringsomestageintheirlifecycle

4) Meioticcelldivisionstransformtheanimalzygoteintoamulticellularembryo

Cellaggregatebodyplanisexhibitedby: N L o=
1) Sponges b)Flatworms ¢)Cnidarians d)Roundworms
The blindsac body planis shown by: ( ?/) 3
1) Sponges 2)Cnidariansandflatworms—

3)Flatwormsandroundworms 4)Roundwormsandearthworms

Which of the following is a rare type of symmetry in animals? \(/ /)/"/) 7

1) Radial 2)Bilateral 3)Biradial '4)Spherical
Bilateral symmetry is accompanied by: .
1) Neoteny 2)Metamerism 3)Metamorphosis 4)Cephalization
Germ layers in sponges are ( 2%4\
1) One 2) Two 3)Three 4yAbsent>~_
Besides Annelida and Arthropoda, metamerism is Found in: (Z oo™ -‘
1) Cestoda 2)Mollusca 3)Chordata 4)Acanthocephala

Development of mesoderm in the form of muscles in body wall, laavmg

alimentary c2nal non-muscular is the feature of:

1)Acoelomates 2)Pseudocoelomates
3)Enterocoelomates 4) Schizocoelomates
\ /’-/‘E’/‘.;‘
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41. Whichoneofthefollowingisnotadeuterostome? (\ )

1) Cuttlefish 2)Hagfish 3)Starfish (& 4)Catfish

42. In understanding different types of symmetry, the term used as principal axis

means: ( g) B / 7
1) A flat area that runs through any axis e
2) An imaginary straight line joining two gpposite points at the ends
3) An imaginary straight line joining the midpoint at one end and the midpoint at the
opposite end

4) An imaginary line passing through focus.

43. Which of the following option is correct? (
A) If a bone is kept in Hel for some time, its inorganic part is dissolved and organic
part is left behind

B) Ifaboneisburnt,itsinorganicmatterisdestroyedandorganicpartisleftbehind

1)Aisc0rrect,Bisincorrect 2)Biscorrect,Aisincorrect
3)BothA&Barecorrect 4)BothAé&Bareincorrect

44. Which of the following is not correct w.r.t Cartilage? (\;)/
1) Intercellularmaterialofcartilageissolidandpliable
2) Ttresistscompression

3) Allthecartilagesinvertebrateembryoarerep1acedbybonesinadult
4) Chondrocytesarecellsofcanilage

45. Which of the following forms the internasal septum  (
1) Fibrous cartilage
2)Hyaline cartilage
3)Elastic cartilage
4)Calcified cartilage
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46. The cross se

animal which has this body plan

1)Planaria
2)Earthworm
3)Cockroach

4)Roundworm

ction of the body of an invertebrate is given below. Identify the

e

- Body wall
- Parenchyma

Alimentary canal
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47. -:?l“he figure shows four animals (1), (2), (3) and (4). Select the correct answer with respect
e
to common characteristics of two of these animals C \ ’)

e
o
M 3 )
L
1)(3)and(4)haveatruecoelom 2)(1)and(4)respiremainlythroughbodywall

3)(2)and(3)showradialsymmetry 4)(1)and(2)havecnidoblastsforself-defence

48. ThepercentageoftotalvolumeoccupiedbyRBCsis CZ
1) Haematuria 2)Haemolysis 3)Hematocr1k/ ﬂmphma

49.  Study the following and identify the set of correct statement(s) pertaining to mature
mammalian RBCs. C l)
i. Theyarecircular,biconcaveandenucleateinallmammals. N e /
ii. TheyareellipticalinshapeincamelsandLlamas.
iii. ThetotalRBCscountinawomanismorethanthatofanan.
iv. Erythropoietin stimulates spleen to enhance the production of RBCs at very high
altitudes.
1I&AV &IV 3)Ionly 4)ITlonly

50. Identify the pair of vitamins which are essential for the maturation of RBC i}m@

1).Pyridoxine & pantothenicacid 2).Cyanocobalamine & riboflavin
3).Pantothenicacid & ascorbicacid 4).Cyanocobalamine & folicac
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51.

52.

53.

54.

55.

3
;
gg#

For conservative force @
1) Work done is independent of the pathw

2) Work done in a closed loop is zero
3) Work done against conservative force is stored is the form of potential energy

4) All the above

Two springs have their force constants 'l‘q and k) and they are stretched to the same
extension. If ky > k1 work done is @ ‘

1) Same in both the springs L-Z) More in spring K1

3) More in spring K2 . 4) None

Two springs have their force constants k1 and k2 (K2>Kj1). When they are stretched

by the same force, work done is @) _
1) Same in both the springs 2) More in spring K1
3) More in spring Kz 4) None

A lorry and a car moving with same KE are brought to rest by applying the same
retarding force. Then @) ‘

1) Lorry will come to rest in a shorter distance

2) Car will come to rest in a shorter distance

3) Both come to ret in the same distance

4) None

A lorry and a car moving with same momentum are Wst by applying the

same retarding force. Then ] b
1) Lorry will come to rest in a shorter distance2) Car will come to rest in a shorter distance
3) Both come to ret in the same distance 4) None
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56. ::When a wound spring is dissolved in an acid, the temperature of the U)

atid
1)Increases 2) Decreases 3) Remains same 4) N{y/ﬂ
57. A) Work done by frictional force is always negative. %2)

58.

59.

B) A body at rest can have mechanical energy.

hsmt

C) Mechanical energy of freely falling body decrease gradually.

1) Only A is true
3) Only C is true

¥2) Only B is true
4) All the three one true

Match the pairs in two lists given below.

List-1

a) Gravitational force

b) Fractional force

¢) KE of a dropped body
d) PE of a dropped

1) a-f, b-h, c-g, d-e
3) a-f,b-g,c-¢,d-h

e
List - II

e) Decreases

f) Conservative force

g) Non-Conservative force

h) Increases body

2) a-f, b-g,c-h,d-e
4) a-h, b-g,c-f,d-e

A body is allowed to fall from a height h above the ground. Then match the

following.
List-1
a) PE=KE»
b) PE=2KE
¢) KE =2PE
d) PE +KE

1) a-e, b-g,c-h,d-f
3) a-f, b-g,c-e,d-h

—

List-1I

e) At height h/2

f) Constant at any point
g) At height 2h/3

h) At height h/3

2) a-g,b-e,c-f,d-h
4) a-e,b-h,c-g,d-f
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60. Ay When a person is walking horizontally with a suitcase on his head, no work is
done by him against gravitational force. (! ol
R): Gravitational force on suitcase acts vertically downwards and motion is in
horizontal direction, hence dot product becomes zero.
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false. '
4) (A) is false but (R) is true.

61. A) Work done by gravitational force in moving a body is path independent.
R) Gravitational force is non conservative force. By Y
1) Both (A) and (R) are true and (R) is the correct explanation of (A).
2) Both (A) & (R) are true but (R) is not correct explanation of (A).
3) (A) is true and (R) is false.
4) (A) is false but (R) is true.

62. A uniform chain of length 2 m is kept on a table such that a length of 60 cm hangs
freely from the edge of the table. The total mass of the chain is 4 kg. What is the work

done in pulling the entire chain on to the table? (g=10 m/s%) @)

1)7.2] 2)3.6] 3) 1207 L 4yla00F—

3
63. A rectangular block of dimensions 6m x 4m X 2m and of density 1.5 gm/c.c is lying on

horizontal ground with the face of largest area in contact with the ground. The work

done in arranging it with its smallest area in contact with the ground is, (g=10ms—2) Q)ﬁ

1) 2880 kJ "
2) 1400Kj
3) 3800Kj | \
720 \___—=
— " O\ pnCiPAL
- VKN’T'-;‘.{}% ﬁ”\‘i"-‘{"i‘?TUTE OF
BHARMACE ! 1154 SCIENCES
Guntha;lal"er'; ), AD: J??:";et (M),
R.R. Wi ciangang.

96,




64.

65.

66.

67.

68.

69.

Xiﬁ;dder 'AB' of weight 300N and length 5m is lying on a horizontal surface. Its
cefitre of gravity is at a distance of '2m' from end A. A weight of 80N is attached at
end B. The work done in raising the ladder to the vertical position with end 'A' in
contact with the ground is Ql) _ .

1) 5007 2) 1000 " 3) 11507 4) 1900J

A particle of mass 100g is thrown vertically upwards with a speed of 5 m/s. The work

done by the force of gravity during the time the particle goes up is (g= 10ms"2w -
1)-0.5] 2)-1.25] 3) 1.25] 4)0.5] -

A particle is projected at 600 to the horizontal with a kinetic energy K. The kinetic
energy at the highest point is @ L

K 2) Zero 3) K/4 4)K/2 \/

A 1.0 HP motor pumps out water from a well of depth 20m and fills a water tank of
volume 2238 litres at a height of 10m from the ground. The running time of the -

motor to fill the empty tank is (g = 10 ms—2) CM

1) S min 2) 10 min 3) 15 min 4) 20 min

A ball is projected vertically down with an initial velocity from a height of 20m on to

a horizontal floor. During the impact it loses 50% of its energy and rebounds tq the

same height. The velocity of projection is (g = lﬂms‘“z) Q,

1) 20 ms~! 2) 15 ms~1 3) 10 ms~1 4) 5 ms~1

A stone is projected vertically up to reach a maximum height 'h'. The ratio of its

kinetic to potential energies at a height %}—1 will be @){k

1)5:4 2)4:5 3)1:4 4)4:1

|
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70. A:motor of power P is used to deliver water at a certain rate through a given
ﬁ’;rizontal pipe. To increase the rate of flow of water through the same pipe n times,

the power of the motor is increased to P1. The ratio of P1 to Pg is CQ/

.
Dn:1 2)n? :1 3)n3: 1 Hnt:1

71. A ladder 'AB' 2.5m long and of weight 150N with its centre of mass at a distance 1m
~ from end 'A' is on the ground. A 40N weight is attached to the end B. The work to be

done to arrange the ladder in vertical position with end 'A’ contact with the grouw
1) 1907] 2) 250] 3) 285] 4) 475]

72. A small block of mass 'm' is kept on a rough inclined surface of inclination 6 fixed in
an elevator. The elevator goes up with a uniform velocity V and the block does not

slide on the wedge. The work done by the force of friction on the block in a time’t’ U>
will be C—

1) Zero 2) mgvt cos20 3) mgvt sin2 4) mgvt sin26

73. A box of mass 50kg at rest is pulled up on an inclined plane 12m long and 2m high by

a constant force of 100N. When it reaches the top of the inclined plane if its velocity is

2ms~1, the work done against friction in Joules is (g = lﬂmshz) -
1) 50 2) 100 3) 150 4) 200

74. A body is.projected vertically up with certain velocity. At a point 'P' in its path, the

ratio of its potential to kinetic energies is 9: 16. The ratio of velocity of projection to—
velocity at 'P' is L{?/)

1)3:4 2)5: 4 3)9:25 4)25:16
\\
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75. When a body is projected vertically up, at a point 'P' in its path, the ratio of potential

76.

77.

78.

9.

80.

81.

82.

*T" kinetic energies is 3: 4. If the same body were to be projected with two times the

initial velocity, the ratio of potential to Kkinetic energies at the same point is G) )
1)3:25 2)3:28 3)1:20 4)1:25 L/_/
The most abundant metal in earth's crust is CP’//
1) Oxygen 2) Aluminium 3) Iron 4) Silicon L
' /
The rare element of the IIIA group elements is @’a\
1) Aluminium 2) Boron 3) Gallium 4) Indium
. 1 /
The atomic volume of which element is least g/) /
1) Boron 2) Aluminium 3) Gallium 4) Thallium
Al and Ga have nearly the same covalent radii, because of )

1) Greater shielding effect of*s’ electrons of 'Ga’ atoms
2) Poor shielding effect of's’ electrons of 'Ga' atoms
3) Poor shielding effect of*d’ electrons of 'Ga' atoms

4) Greater shielding effect of*d’ electrons of 'Ga' atoms

Among IIIA group elements the elements with highest and lowest

ionisationpotential are

1)B, Tl 2)B, In 3)B, Al 4) B, Ga

IHA group element with lowest electro- negativity

1) Al 2) Tl 3)B 4) Ga
The IIIA element with highest melting point is Q /)/
1) Boron 2) Gallium  3) Indium 4) Thalium —




83,4 The IlIA element with least melting point is

1) Boron 2) Indium  3) Gallium

84,
1. Bi 2.Pb 3.B

(E)///_, |

4) Aluminium

4.T1

Which of the following does not exhibit inert pair effect? &‘QK
(e

85. +Thallous chloride is more stable thdn Thallic chloride because of

1) More ionic character
2) Larger size of TI ion

3) High hydration energy of TI* jon
4) Inert pair effect

86. Which reacts with acids as well as alkalies?

a. Mg 2)Si 3) Al

87. Element with giant molecular structure is
a.B 2) Al 3) Ga
a. F 2)Cl1  3)Br 41

3
89. The maximum covalency of Boron is

1)4 2)3 3)6

90. The maximum covalency of Aluminium is
1)3 2)3 3)6

4) Cu

2

J

4) Tl G‘,—f%

88. The non metallic element present in the mineral cryolite is

4)5

4)5

91. Aluminium exhibits diagonal relationship with

- a Beryllium  2) Silicon 3) Carbon

e
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92. Borax bead test is responded by: Kz‘\ ) e
1. Divalent metals 2.Heavy metals
3. Light metal 4 Metals which form coloured metaborates

i 3
¢ oot g
93. Borax bead test is not given by . L)/

a. Aluminium salt 2) Cobaltsalt  3) Copper 4) Nickel salt

94. The metal that does not give the borax bead test CZQ/
i 2.Nickel 3.Lead

1. Chromium 4 Manganese

95. The coloured bead produced when borax is heated with Cuis (-

1. Greenish 2.Green when hot & blue when cold 3. Yellow 4 Red
96. Boraxis usedin | Lr

1. Qualitative analysis 2.Welding -

3. Pyrex glass 4.All

97.Total number of electrons involved in the formation of diborane molecule are

)18 2) 12 3) 6 4)3 %

98.The number of three centered, 2 electron bonds in diborane is G

1)2 2) 4 3)3 4)6 -
99.The aqueous solution of borax turns red litmus to @
a. Blue 2. No Change 3. Red 4. White e

100.0rthoboric acid when heated to red hot gives QL) .L/—A

b. Metaboric acid 2.Pyroboric acid3. Boron and water 4 Boric anhydride
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INSTITUTE OF
PHARMACEUTICAL SCIENCES

{Approved by PCI, AICTE & Affiliated to JNTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

AVANTHI FREESHIP STUDENTS

ACADEMIC YEAR

2019 — 2020

The following is the list of students 50 are selected from Avanthi Freeship Policy test conducted
on 08/07/19,22/07/19 and 31/07/19. Based on the merit of the test results, the fee concession is

given to the below students.

Freeship Test Marks

| S.No Free Ship no Name of the student Marks
1 AIPS2019001 BALLA SHEETAL 86
2 AIPS2019003 MUDAVATH VARSHIKA 82
3 AIPS2019005 P BRAHMACHARY 85
4 AIPS2019007 SANIA MAHEEN 79
5 AIPS2019009 CHITRAPU SRI SATYA DURGA 85
6 AIPS2019010 ADDAGATLA ANUPAMA 77
7 AIPS2019011 BOLLAREDDDY DEVENDRAREDDY 74
8 AIPS2019013 K.ADARSH 83
9 AIPS2019015 VATTI SWETHA 81
10 AIPS2019017 CHAWAN PRIYANKA 84
11 AIPS2019019 CHENNALA VAISHNAVI REDDY 75
12 AIPS2019020 D.AAKARSHA £
13 AIPS2019021 DYAGALA DEEPIKA 83
14 ATIPS2019023 GUBBA SADHANA 82
15 AIPS2019024 KANNA MADHU 69
16 AIPS2019026 KURMA NAVYASRI 82
17 AIPS2019027 ABBANABOINA SRAVYA SRI 81
18 AIPS2019029 M MANASA 85
19 AIPS2019030 ,APPALLA VAMSY SUBBA RAO 81
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INSTITUTE OF
PHARMACEUTICAL SCIENCES

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderabod - 501 512.

20 AIPS2019032 NARWA RUCHA 76

21 AIPS2019033 PULLANNAGARI NITHIN 80

22 AIPS2019034 GADDAM SNEHA 78

23 AIPS2019036 V.SANGEETHA 17

24 AIPS2019038 GUTTI MAHESH 79

25 AIPS2019040 PRAGNAPURAM GOUTHAM 69

26 AIPS2019042 RAJAMGARI KEERTHI 78

27 AIPS2019044 SHARAN BABU 78

28 AIPS2019046 SRILOJU ANILCHARY 75

29 AIPS2019048 AEDLA HARISH 77

30 AIPS2019050 ANJALI SINGH 76

31 AIPS2019052 BARLA RAM 69

32 AIPS2019055 BELLI NIHARIKA 77

33 AIPS2019058 CHENNOJU SHASHANK 75

34 AIPS2019061 DASAM BHAGYALAKSHMI 74

35 AIPS2019063 DHAVLURI SRUTHI 74

36 AIPS2019067 GUNTUKU MADHUSUDHAN 71

37 AIPS2019070 ISAPRE SUPRIYA 73

38 AIPS2019073 K. RAHUL T2

39 AIPS2019076 KANDADA SAIKIRAN 72

40 AIPS2019079 KARNAT MANASA 71

41 AIPS2019081 M. MANOJKUMAR 71

42 AIPS2019085 NAKKA SUPRIYA 69

43 AIPS2019088 NALLA AKHIL KUMAR 71

44 AIPS2019090 NARAVARAOPET SHARANYA 73

45 AIPS2019092 NATTE VASANTH 71

46 AIPS2019094 NAVUROTHU AKHILA 70

47 AIPS2019096 S VINAYA CHARY 71

48 AIPS2019097 SURIGIRALA ABHIRAM 69

49 AIPS2019098 TELUGU PRASANTH 71

50 AIPS2019100 VALLABHUDAS SHIVAGANESH 69
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10. Community & Cast: B,CCg/)

11. Convenor And Management: ...C.&nY N0 ...
12. Emcet Rank: Lé;%é?:

+h
13.Previous Educational Details: .[0.. ... Jm
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b. SSC grade /percentage: .. (f f
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APPLICATION TO AVAIL FREESHIP/ CONCESSION

2019-2020

1. Name Of The Students: Cﬁlr Y% Wf

2. Registration Number: . |9.& N IR 00[0. .

3. Branch: . & 6pb\f&ﬁf”) ! grh |

4. Mother Name: . Cdnc S (ﬁﬂd’lf\%

5. Father Name: ... U«M&%WV

6. FatherOccupation;......p.aLi.?é.........................

7. Mother Occupation: L Houl8eroife

8. Parent Income: ... 1.5 . DD, .

9. Residential Address: —Coﬁf/\l{m?wf [(4 Z/f%//»/agé )Qofé’ fabad!.
10. Community & Cast: .......02C ...

11. Convenor And Management: . Corb v enew .

12. Emcet Rank: ,2.17Oc?

13.Previous Educational Details: !0% W
a. School studied: KU)’\J)@' @?ﬂ\, \/ld/nd;:.ﬂ_skjf

b. SSC grade /percentage: ... ':7’—3

¢. Intermediate study: ﬁqﬂufcj\"’:é”‘y’\ jﬂr ('Dd(f—?e,

d. Intermediate percentage: R e S

Date: 06/ a / lt) Scl/ggatdl&l\mc

Synined
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AVANTH INSTITUTE OF

g 3 PHARMACEUTICAL SCIENCES
: p (Approved by PCl, AICTE & Affiliated to JNTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderobad - 501 512.

APPLICATION TO AVAIL FREESHIP/ CONCESSION

2019-2020

L Name OF The studens: Nay bt Dkhila

2. Registration Number: ‘qfﬂ NHQDO‘L? I

3. Branch: ... ... /)har;m%_..j?&.. i LA

4. Mother Name: NKCU)?%

5. Father Name: N\/@ni’a{:\’.%l‘\an’)

6. Father Occupation: Bug?nfﬁ/&

7. Mother Occupation: HOU&CQﬁ’Pﬂ

8. Parent Income: ...1.00,.0.00. .

9. Residential Address: &} =3, Beswoa. nr\o\{hfb{ N 'wmbac(
10. Community & Cast: . B 5 |

11. Convenor And Management: .. MQY\C&?Q_’Y\U\E’
12. Emcet Rank: ... ... &)5/1':{"7/

13.Previous Educational Details: ... .[Q.. ... ] g‘:ﬁﬁﬁﬂ\ -

b. SSC grade /percentage: C)I' | ¢ S

c. Intermediate study: Abkj%:j’r« LDJ l C/?i

d. Intermediate percentage: ......... G]LP(./"

- P /@k‘ .i
ate: {6‘ a / (ﬂ) \\ ¥ ignatur
\‘\/_/ /

A\JAN"’ ¥ T \mpb‘m;{j\ ).

pPHAR YR 8.
ount‘\’dPR G Dis me\anga
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AVAN'I‘H INSTITUTE OF
PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affilioted to JINTUH)
Gunthopally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderobad - 501 512.

APPLICATION TO AVAIL FREESHIP/ CONCESSION

2019-2020
1. Name Of The Students: KW' I 5\0&}’\4{

2. Registration Number: 4?@”7& C’??o?_é

3. Branch: [&-—p}'mg/%
é
4. Mother Name: )/\" rﬁ%

5. Father Name: K" I A

6. Father Occupation: ‘TMRW

8. ParentIncome: ....... 0. OO0 100 ... .. ...
9. Residential Address: ..~ ‘76 'T-I’\@Y?)’U.:Y; KIA?’V)W’M}L\, k—ou"\ﬂf’\

10. Community & Cast: B

7. Mother Occupation: ... TTTET¥E

11. Convenor And Management: Llennernaos. ...
12. Emeet Rank: ... 206K oo

Tt
13.Previous Educational Details: ..[0. ... (. m& e

b. SSC grade /percentage: ... g oL ...

c. Intermediate study:_g.n.K. f,{\/wo)/ C&ML

d. Intermediate percentage: ...... ﬂ_gr/,

. Mol
Date: ')// 9 / f a) \\\_/_’/,; /// ’fs(ignature

\
PRINDXPA-\'i ﬂ'E OF
\1‘\'1" ' c. 2 ENCES
v?:“\‘ 7 bdul tJPUTWet L

,untha%R Dist. Ta\angara
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AVAN"‘HI INSTITUTE OF
PHARMACEUTICAIL SCIENCES
(Approved by PCl, AICTE & Affiliated to JNTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderabad - 501 512,

Gunthapally,
Date: 04-10-2019.
From

The Prinicipal,
Avanthi Institute of Pharmaceutical Sciences,

Gunthapally.

To
Chairperson
Governing Body (GB),
Avanthi Institute of Pharmaceutical Sciences,

Gunthapally.

Dear Sir/Madam,
Sub: Request to sanction of Freeship Amount.

Reference: 1. Avanthi Freeship & Merit Scholarship Policy.

This is to inform you that Avanthi Institute of Pharmaceutical Sciences conducted an
exam “Avanthi Freeship Policy Test” on 08/07/19, 22/07/19 and 31/07/19 to the students,
who are willing to join in Avanthi Institute of Pharmaceutical Sciences in first year B.Pharm
and Pharm.D program for the academic year 2019 - 2020. Based on their performance in the
test, they were awarded marks and eligibility for Freeships in accordance with rules and
regulations of Freeship internal policy. I enclose the list of 50 students, who are qualified in the
test for your reference. In this regard, I request you to please forward this students list to the

Governing Body for sanctioning the Freeship amount for further proceedings.

The details are also enclosed for your consideration

Thanking you sir

Yours faithfully,

AL
INSTITUTE OF
TETIGAL SUIENCES

., Abdutiapurmet (M),
R.R. Dist. Telangana.

[

Committed to Ex
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(% )y AVANTHI IR L8 @ L
(Approved by PCl, AICTE & Affiliated to JINTUH) s

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

AVANTHI FREESHIP STUDENTS

ACADEMIC YEAR

2019 - 2020

The following is the list of students 50 are selected from Avanthi Freeship Policy test. Based on

|
the merit of the results, the fee concession is given to the below students.

S.No | Course Name of the student Hall Ticket No | Amount

1 lyr BALLA SHEETAL 19GN1T0001 10000

2 lyr MUDAVATH VARSHIKA 19GNI1T0010 7500

3 Iyr P BRAHMACHARY 19GN1T0013 5000

4 lyr SANIA MAHEEN 19GN1T0016 6000

5 Lyr CHITRAPU SRI SATYA DURGA 19GNI1T0018 9000

6 lyr ADDAGATLA ANUPAMA 19GN1T0022 9000

7 Iyr BOLLAREDDDY DEVENDRAREDDY 19GN1T0024 4500

8 Iyr K.ADARSH 19GNI1T0025 8000

9 Iyr VATTI SWETHA 19GNI1T0029 7000

10 Iyr CHAWAN PRIYANKA 19GN1R0009 8500

11 [yr CHENNALA VAISHNAVI REDDY 19GN1R0010 4000

12 Iyr D.AAKARSHA 19GN1R0013 5000

13 Iyr DYAGALA DEEPIKA 19GN1R0015 8000

14 Iyr GUBBA SADHANA 19GN1R0019 7500

15 [yr KANNA MADHU 19GN1R0026 1000

16 Lyr KURMA NAVYASRI 19GN1R0030 7500

17 Iyr ABBANABOINA SRAVYA SRI 19GN1R0032 7000

18 Iyr M.MANASA 19GN1R0033 9000

19 Iyr APPALLA VAMSY SUBBA RAO 19GN1R0036 7000

20 lyr NARWA RUCHA 19GN1R0040 4500

21 Iyr PULLANNAGARI NITHIN 19GN1R0045 6500

{ 22 Iyr GADDAM SNEHA 19GN1R0046 5500
‘ Committed |
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AVANTHI INSTITUTE OF @8 o
PHARMACEUTICAL SCIENCES (§&#a8 NAAC
(Approved by PCL, AICTE & Afﬁlicﬂe‘d to JINTUH) A , W
Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512.
23 | Iyr V SANGEETHA I9GNIR0059 | 5000
24 | Iyr GUTTI MAHESH 19GNTR0063 | 6000
25 | Iyr PRAGNAPURAM GOUTHAM 19GNIR0067 | 1000
26 | Iyr RAJAMGARI KEERTHI I9GNIR0068 | 5500
27 | Iyr SHARAN BABU 19GNIR0069 | 5500
28 | Iyr SRILOJU ANILCHARY 19GNIR0070 | 5000
29 | Tyr AEDLA HARISH 19GNIR0071 | 5000
30 | lyr ANJALI SINGH 19GNIR0072 | 4500
31 | Iyr BARLA RAM 19GNIR0075 | 1000
32 | Iyr BELLI NIHARIKA 19GNIR0076 | 4000
33| Iyr CHENNOJU SHASHANK 19GNIR0077 | 4000
34 | Iyr DASAM BHAGYALAKSHMI [9GNIR0078 | 3500
35 | Iyr DHAVLURI SRUTHI 19GNIR0079 | 3500
36 | Iyr GUNTUKU MADHUSUDHAN I9GNTR0083 | 3000
37 | Iyr ISAPRE SUPRIYA 19GNTR0084 | 3000
38 | Iyr K. RAHUL [9GNIR008S | 2500
39 | Iyr KANDADA SAI KIRAN 19GNIR0086 | 2500
40 | Tyr KARNAT MANASA 19GNIR0087 | 2000
a1 | Iyr M. MANOJKUMAR 19GNIR0088 | 2000
2 | lyr NAKKA SUPRIYA 19GNIR0089 | 2000 |
83| Iyr NALLA AKHIL KUMAR 19GNIR0090 | 2000
44 | Iy NARAVARAOPET SHARANYA I9GNTR0091 | 2000
45 | Iyr NATTE VASANTH 19GNTR0092 | 2000
46 | Iyr NAVUROTHU AKHILA 19GNIR0093 | 1500
47 | Iy S VINAYA CHARY 19GNIR0094 | 2000
48 | Iyr SURIGIRALA ABHIRAM 19GNIR0096 | 1000
49 | Iyr TELUGU PRASANTH 19GNIR0097 | 1000
50 | Iyr VALLABHUDAS SHIVAGANESH | 19GNIR0099 | 1000

Total students: 50 Total Amount: Rs 2,30,000

__..,.-. =

Y/ ‘&wﬁiﬂ’@\

‘\
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AVAN"‘HI INSTITUTE OF
PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affiliated 1o JNTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Romoiji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name ... ... BcShei,Efa«a S/o/D\é... BMthW

Branch PIGGWY?*D ....... Roll number.lq.@'l. NPTOOO l Concession / free ship

i
in tuition fee / Hospital fee / Transportation fee / INTU fee / amount in Rs . [(O; 000 .

112




AVAN'I‘HI INSTITUTE OF
H PHARMACEUTICAL SCIENCES
(Approved by PCI, AICTE & Affiliated to INTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name P]\DT : ?}’) §7{)/D/0 Pﬂamdmnagdx

Branch E) hm’m ... Roll number. ]9 G\ 1 IRO 0 .L{.S./Concession / free ship
¥

n tuiti\(él fee / Hospital fee / Transportation fee / INTU fee / amount in Rs . 6/5—00 -

JJ- / /

N\,
”é}%ﬁ}:ﬁ?d to Excellence in Technical Education




AVANTHI INSTITUTE OF #3N 2
j PHARMACEUTICAL SCIENCES | : y g cmoee
(Approved by PCl, AICTE & Affiliated to JNTUH) o

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramaoji Filmcity, Hyderabad - 501 512,

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name .. Cﬂl\}*d&hna\/? sQquf .Sl / ﬁff) Cﬁt MTQ&.QQAQGAJ/
Branch B p"\WV)/ULaf Roll number..‘ QG’IN[ ROD‘ 4 Concession / free ship

e
in tuition fee / Hospital fee / Transportation fee / INTU fee / amount in Rs . (%:O Q0

PRINCIPAL ute OF

3 us
— AVAN T T SOIENGE

b AAREAACES LI urm'éf{fﬁ.' .
nitted to E.rceffﬁ?&gg . FeeRltical Education




(Approved by PCl, AICTE & Affiliated to JNTUH)
Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Romoiji Filmcity, Hyderabad - 501 512,

Y AVANTHI %ﬁ%&ﬁ&%ﬁ&.&é

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

Name NAKW{LQ S0/ Yo N\/Qﬂkgf:ﬁ&kam

Branch BP”W%Q ...... Roll number... !GI@NIRDD% Concession / free ship

in tuition fee / Hospital fee / Transportation fee / .IN%[/J fee /amount inRs . |, ,S—DD e

tor
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AVAN"‘HI INSTITUTE OF

PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & A#filiated to JNTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512.

Sanction Letter

With reference to the application received, you have been sanctioned the below

concession / free ship.

NameKMOLo()I’lM S/o/D/o K Qamu_ﬂ.b.

Branch Bﬁlﬁfm% Roll number.. |TGINIKOD A 6. Concession / free ship

N . | v’ |
in tuition fee / Hospital fee / Transportation fee / INTU fee / amount in Rs . .I.P. 0o .

P ” "’é‘ih’f‘ { T

-’}’:*5&“% — AN

£/ -'-"‘\)‘/’ Fely

PN, >y

[/ ;ﬂ
[= el
|=i €nid
\2 5 LT
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: \“‘:jt kN c"'f;?":!:’:
\/—/7/// \“*4 ‘* __;;:J

\.

S0y 2o
PRINC} f;l_-{ UTE OF N UATS

b“-r'i ‘ . - piean ',l;‘ 'NVES
F; V?HAF ) A gnpzrpcet (“A);

unthats - g gang.
Committed to F‘,xcelﬁi‘wp in Te( hnical Education
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INSTITUTE OF

AVA N I H PHARMACEUTICAL SCIENCES

{(Approved by PCl, AICTE & Affiliated to JINTUH)
Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Ramcji Filmcity, Hyderabad - 501 512,

Our institution committed to provide freeships to poor and economically backward students. It is
applicable to the students who do not have parents or either father or mother has lost their lives
they could avail the opportunity. We also offer freeships whose parental annual income less than
one lakh. We ensure that this financial support will helps the students to reach their goals. Here
we are providing the list of students to whom we have provided freeship from college along with

their requested letters.

S.No Course Name of the student Hall Ticket No { Amount
I | PharmDIlyr | AKULA SINDUJA 18GN1T0004 | 5500
o | PharmDIIyr | yg; v iR MEGHANA 18GNIT0010 | 5000
3 |Pham.DIlyr |y A\ gAR AMONI SWETHA 18GNIT0019 | 5000
4 | Pharm.DIlyr | A yNU UMESH KUMAR I8GN1T0020 | 5000
5 | PhamDIlyr | GyNDLA MEENAKSHI I8GN1T0021 | 1000
¢ | PharmD1lyr ;ﬁgﬁ%&ﬂAMSM P R
7 | PharmDULyr | A} vy ANKAR NANDINI 17GN1T0020 | 5000
g | Pharm.DIIIyr | pryigp ApATLLY SHRAVANI 17GN1T0006 | 5000
g |Pharm.DIIyr | cppenNAVENI MEGHANA 17GNITO018 | 5000
1o |Pham.DIlyr | KhoNARATI SINDHU 17GNIT0019 | 5000
11 | PharmDIyr |\ qyiRISHA(S) 17GNIT0021 | 5000
1 | Pharm.DULyr } ~pyANDAN KUMAR SAH 17GN1T0022 | 5000
13 | Pharm.DIIyr | pAvULA SRUTHI YADAV 17GNIT0028 | 6000
14 |Pham DIV yr gggg@ KRISHNA SAHITHI AT | 000
15 | Pharm.DIViyr | s popya BEGUM(S) 16GNIT0015 | 4000
16 |PharmDIVyr | g1 EENA PRIYAGS) 16GNIT0016 | 4000
17 | Pharm.DIViyr | p g A KRISHNA REDDY(S) 16GNI1T0017 | 4000
1g | Pharm.DIViyr | 5y DHUR IS )= 16GNITO0018 | 4000

% unL\R“# 'fn S
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AVANTH

INSTITUTE OF
PHARMACEUTICAL SCIENCES

(Approved by PCl, AICTE & Affiliated to JINTUH)

Pharm.D IV yr

Gunthapally (V), Abdullapurmet (M), R.R. Dist., Near Rameji Filmcity, Hyderabed - 501 512,

19 M BHAVITHA(S) 16GNIT0019 | 4000
20 |PhamDIVyr | g gysHAIL(S) 16GN1T0020 | 4000
21 |Pham.DIVyr | siNpHU 16GN1T0021 | 2000
22 | PhRamDIVyr | GouTHAMI 16GNIT0030 | 4000
23 | Pham.DViyr |\ NisH KUMAR DAS(S) ISGNIT0019 | 6000
24 | Pharm.DVyr | oy vAISHNAVI DURGA(S) ISGNIT0020 | 6000
25 |Pham.DVyr | g oapiTHI ISGNIT0022 | 6000
26 | PharmDVyr | b cymMAYI 15GNIT0023 | 6000
g7 |PhamDVyr | g1 peMaA ISGNIT0024 | 6000
og | Pharm.DVyr |\ HEER ANMAT ISGN1T0027 | 1000
29 | PharmD VIyr |\ AgyiLASH 14GN1T0022 | 2000
30 | Pharm.DVIyr | cppp ANJEEVI 14GN1T0023 | 1500
31 | Pham.DVIyr | qu; sRIRAM 14GN1T0024 | 2000
3y | Pharm.D VIyr | qp AvANI GEETHIKA [4GN1T0025 | 1000
33 | FhamD VI | ~gragcavi 14GNI1T0026 | 1500
34 | BPharmlIlyr | A} 1 GUBELLY PAVITHRA 18GNI1R0048 | 6500
35 | B-PharmIlyr | \pyAN CHAKRABORTHY ISGNIR0049 | 5000
36 | BPharmlIlyr | G oRUUGANTHAM SRAVANI I8GNIRO0S0 | 4000
37 | BPharmlIlyr |} Gi\pA MANOJ KUMAR I8GNIR0051 | 6000
3g | BPharmlIlyr | A TARIYA RAHUL JAIN I8GN1R0053 | 4000
39 | BPharmIlyr | \/ATAM SANGAMESHWAR 18GNIR0055 | 6000
40 | BPharm Il yr gd{}igtsfgﬁ; VENKATA SGNIRO0SS | 6000
41 |BPharmIlyr | A g ARKANTI KAVYA ISGNIR0058 | 6000
g2 | BPhamIlyr | p ;1 EBOINA SAI KRISHNA I8GNIR0059 | 1000
43 |BPhamllyr | pappp VENKATESH I8GNIR0061 | 3000

(g( \Jrunn‘gﬁ, \\
o
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AVAN'I'H INSTITUTE OF

PHARMACEUTICAL SCIENCES
(Approved by PCl, AICTE & Affilioted to JNTUH)

Gunthapally (V), Abdullapurmet (M), R.R. Dist.,, Near Rameji Filmcity, Hyderabad - 501 512,

44 | BPharmIlyr | pp A cHI SINGH 18GNIR0062 | 4500
45 |BPhamllyr | qsvpp ASHRAF ISGN1R0066 | 5500
46 |BPharmIlyr | 1 ppppepIKA I8GNIR0073 | 4000
g7 | BPharmIlyr | \60p WADOOD UDDIN I8GNIR0074 | 6000
4g | BPhamlIlyr | ooy prepra I8GNIR0078 | 4000
49 |BPharmIlyr | BODINENISUDHEER KUMAR | oo ™| oo
BABU
5o |BPharmIllyr | popjAT] JASHWANTH 17GNIR0056 | 6000
51 |BPhamIlyr | pppos sUNIL 17GNIR0061 | 4000
sp | BPharmIllyr | 0y AKWAD NACHIKETH 17GNIR0065 | 2000
53 | BPharmIlyr | ;ysanisHA 17GNIR0067 | 5000
54 | BPharmIVyr | Gi\pAGANI SRAVANI 16GNIR0040 | 6000
55 | BPharmIViyr | gipA THARUN KUMAR 16GNIR0047 | 4000
s6 | B-PharmIViyr | 4 \pi 1 DHANA SEKHAR 19GN1S1211 | 5000
57 | BPharmIViyr |y A1SHALI CHAVAN 19GN1S0312 | 5000
sg | MPharmIlyr | 6 GINENT MAHESH I8GN1S0309 | 5000
59 | MPharmlIlyr | TARUNIKA I8GNI1S0310 | 5000
60 |MPhamlIlyr |1gsGAR I8GN1S0311 | 5000
61 |MPhamllyr | ¢ qaANDHYA I8GN1S0312 | 5000
sy | M.Pharm 1T yr E&SEEQTH FARHANA SGNISI210 | 5000
63 |MPharmIlyr |y oo MAN I8GN1SI211 | 5000
64 | MPharmIlyr |\ opppyaN I8GNISI212 | 5000
65 |MPhamllyr |y A\ kUMAR I8GN1S1213 | 5000
Total students: 65 Total Amount: Rs 2,80,000
Comm irte((
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INSTITUTE OF #Z35
PHARMACEUTICAL SCIENCES ({08

(Approved by PCl, AICTE & Affiliated to JINTUH)

Gunthapally (V), Abdullapurmet (M), R.R, Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

Gunthapally,
Date: 09-03-2020.

To
The Governing Body (GB),

Avanthi Institute of Pharmaceutical Sciences,

Gunthapally.
Sub: Letter of request sanction of Merit Scholarship amount from college budget.

Reference: 1. Avanthi Freeship and Merit Scholarship Policy.
2. College Academy Committee meeting held on 05/03/20

Dear Sir/Madam,
This is to request you please sanction amount of Rs. 80,000 (Eighty thousand Rupees) for

20 students into the college budget for the academic vear 2019-2020.

The details are also enclosed for your consideration

Thanking you sir

Yours faithfully,

-

A& SWARMAL .

A oLk

i il /

i(:——! P PRINCIPAL e
= “ —rs 4 1Eao= 1T et
%\ %) AVANTH! T s

NG ™ \‘-iﬁ/} junthapaliy (v, wd
G0y R.R. Dist. Telangana.
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AVANTH

INSTITUTE OF
PHARMACEUTICAL SCIENCES

(Approved by PCl, AICTE & Affilioted to INTUH)

Gunthapally (V), Abdullopurmet (M), R.R. Dist., Near Ramoji Filmcity, Hyderabad - 501 512,

Merit Scholarship Students List with Amount

Academic Year: 2019-2020

Rs. 5000 and the second topper receiving Rs. 3000.

merit, the academic toppers are selected and given prizes, with the first topper awarded as

‘ The following is the list of students 20 are selected from Avanthi Freeship Policy. As per the

|

1 SNO| COURSE | YEAR| . é‘&l:l.LN o NAglrﬂggNTrHE MERIT | AMOUNT

‘ 1 B PHARM | 18GNIR0031 BHAVYA REDDY I 5000
2 | BPHARM 1 | 18GNIR0063 SATKIRAN I 3000
3 | BPHARM M | 17GNIR0044 S MEHREEN I 5000
4 | BPHARM | 17GNIR00so |V PRARAY SUMAR I 3000
s | BPHARM IV | 16GNIR0001 |  V.SHYAM SUNDER 1 5000
6 | BPHARM IV | 16GNIR0030 P SANTOSHI I 3000
7 | PHARMD | 18GNI1T0012 M SHIRISHA 1 5000
8 | PHARMD I | 18GN1T0003 BNAVYASRI I 3000
9 | PHARMD M| 17GN1T0014 P BINDHU I 5000
10 | PHARMD M | 17GN1T0005 G.K SHIVANI I 3000
11 | PHARMD IV | 16GNIT0012 M.SWATHI I 5000
12 | PHARMD IV | 16GN1T0008 PREETHI REDDY I 3000
13 | PHARMD V| 15GNIT0020 | CH.VAISHNAVIDURGA | I 5000
14 | PHARM D V| 15GNI1T0012 K SRUTHI I 3000
15 | PHARMD VI | 14GNIT0015 N.REVATHI I 5000
16 | PHARMD VI | 14GNIT0025 | SRAVANI GEETHIKA I 3000
17 | MPCEUTICS | 11 | I18GN1S0301 A ANUSHA 1 5000
18 | MPCEUTICS | 11 | ISGN1S0303 K PRAVALIKA I 3000
19 |MPANALYSIS| 1 | 18GN1S1207 P MADHAVI I 5000
20 |MPANALYSIS| 1 | 18GNISI1206 1 BHAVANI I 3000

Total students: 20

Total Amount: Rs 80,000




